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            MR. NEERCHAL:  Good morning,

  everyone.  First of all, I think I want to

  apologize.  I am late.  But Stephanie cannot

  do anything to me.  This is my last meeting.

  I guess I took advantage of that.  I talked

  to Howard yesterday, he said all I'm going to

  get is a certificate, that's it.  I said, not

  even a gas card.

            Anyway, once again, I'm very sorry,

  but I think we can make this time up.  I

  think we can eat up a little bit of the

  breaks and we will be okay.

            MR. FEDER:  Is it our fault that

  you're late?

            MR. MURPHY:  Right, you get no

  breaks.

            MR. NEERCHAL:  I'm happy to be

  punished.  I'll gladly accept any punishment.

            So we do have a couple of quick

  things that we have to do.  I would like us

  to go around the table, those who did not --

  who were not here yesterday, who did not

  introduce themselves, please state your name

  and affiliation for the record.  Please speak

  into the mic.  We'll start with Preston here.

            MR. McDOWNEY:  Preston McDowney.

  EIA, Statistics and Methods Group.

            MR. LADY:  George Lady.  I'm a

  contractor to SMG.

            MR. BUCK:  Andrew Buck from Temple

  University.  I'm a colleague of George Lady.

            MR. LIDDERDALE:  Tancred

  Lidderdale, EIA.  I'm the supervisor of the

  Short-Term Energy Outlook Team.

            MS. FORSYTH:  Barb Forsyth.  I'm

  with the University of Maryland.

            MR. NEERCHAL:  From the audience?

            MR. HOLT:  I'm John Holt from the

  Office of Integrative Analysis and

  Forecasting in the International Group.

            MS. WAUGH:  Shawna Waugh.  EIA,

  Statistics and Methods Group.

            MR. KYDES:  Andy Kydes from the

  Office of Integrated Analysis and

  Forecasting.

            MS. BOEDECKER:  Erin Boedecker from

  the Office of Integrative Analysis and

  Forecasting.

            MR. HOLT:  Susan Holt.  Office of

  the EIA Administrator.

            MR. NEERCHAL:  Thank you.  So with

  that, we will start with Preston.

            MR. McDOWNEY:  Good morning.  I'm

  Preston McDowney from SMG.  I would also like

  to introduce again George Lady from Temple

  University who will be presenting with me

  today and Andrew Buck is going to be

  presenting the next presentation on the Short

  Term Energy Model.

            Today's presentation is about the

  impact analysis of the NEMS forecast

  assessment.  Here's a disclaimer that you've

  probably seen on every presentation so far so

  I'm not going to take the time to read it.

            Today I'm going to talk about --

  give you a brief model background, the

  project background, the project goals, and

  I'm going to give a demonstration on

  residential demand module and George is going

  to talk to you about what we call the impact

  analysis.

            So we're doing assessments on two

  models -- the National Energy Modeling

  System, which is our annual model.  It's a

  long-term model with projections out to 2030.

  It's a Fortran base model with 13 modules and

  I'll show you the modules on the next slide,

  and it assumes current laws, regulations,

  mandates, any kind of business as usual

  approach.

            The short-term model which Andrew

  is going to present his work on is a monthly

  model.  It's short term with forecasts out to

  18 months.  It's an econometric model based

  in (off mike) program and it provides

  benchmarks to the early years of the AEO NEMS

  projections.

            The long-term model has 13 modules,

  4 supply modules, 2 conversion modules, 1 for

  electricity markets, 1 for petroleum markets,

  a microeconomic module, and a national

  module, and then with the 4 demand modules,

  which is where most of the bulk of our work

  is on.  And today we're going to use the

  residential demand module as the basis of our

  presentation.

            Now ideally if you were going to do

  some assessments on a model, the easiest

  thing to do would be to put the actual data

  in the model and see what happens, but with

  the long-term nature of NEMS and some IT

  issues that we have going back to like 1998

  and putting the actual data into NEMS really

  isn't practical for us, so the overall

  purpose of this project is to come up with

  the alternative method of assessing NEMS.

            Now the general methodology that

  we're going to use is we're going to run like

  the demand module changing specific design

  parameters in the module, accumulate all of

  the solutions, and fit an approximation

  model, a mini model, to the model.

            These approximation models can

  easily be archived, retrieved and evaluated

  at any time in the future.

            Now these approximation models

  start with going back to the demand module.

  In this case we're going to do the

  residential demand, and using a factorial

  design experiment, we're going to change key

  variables such as weather, price, other

  economic activity variables, and collect

  those solutions, run approximation models

  with those key variables, and get the

  sensitivities from those.

            Now in previous presentations to

  this committee -- this project's been going

  on for about four years now -- and we've

  presented several times.  This is not the

  complete list of presentations that we've

  made, but just to highlight some of the

  important ones.  In October of 2005, George

  presented the methodology to the committee.

  In 2006, he presented the preliminary work

  which came up with the sensitivities and

  approximation models only using the specific

  NEMS runs that were used for the AEO and the

  committee, you guys, suggested that we have

  some other type of systematic approach to the

  solution ones that we use to evaluate the

  sensitivities.  So as a result of that

  suggestion, we went to the full factorial

  design process to come up with a systematic

  approach.  And George presented the results

  of that in a 2007 October meeting.

            So the goals of this project are

  twofold.  First is to have a -- to regularly

  measure the sensitivities of NEMS, and this

  is a diagnostic approach.  It's kind of like

  an annual checkup, like a doctor's checkup,

  not going to search for everything, but just

  making sure that the key variables are

  behaving the way we think they would.

            And as you can imagine, as you go

  through this process, there will be times

  that some things might not look like you

  expect.

            The other goal is what we're going

  to talk about today is the "error"

  decomposition which we call impact analysis,

  and it's to be able to archive these

  approximation models to be used in the

  future, so in future years we can put the

  real data to these approximation models to

  see how well we would have done.

            Now looking at the residential

  models specifically, as you can see in NEMS,

  it has a lot of inputs -- appliance,

  expectancy, life expectancy, efficiencies,

  square footage, population, and things like

  housing starts and energy prices which we're

  going to take as the key drivers.  So for our

  approximation equation, we look at fuel

  demand is equal to whatever fuel we're

  looking at, price of that fuel, total number

  of households.  In the case of natural gas as

  the fuel (off mike) trend and a lag variable

  to catch some of the lag effects.

            So what we see here in this slide

  is you compare the approximation model with

  the actual full NEMS ones, just running the

  demand module and not running the full blown

  NEMS and integrating models and all that, you

  can get a pretty good fit, as you see with

  our squares, to the solutions that we ran.

            The t-statistics test significant

  and those t-statistics are to the actual

  regression coefficients in the elasticities

  which we have shown here.

            So with that, I'm going to hand

  over the rest of the presentation to George

  and he's going to talk to you about the

  impact analysis and what we did with this

  approach.

            MR. LADY:  From the perspective of

  the project, a goal that had been in mind

  from the very beginning was to find some way

  to look eventually at what NEMS, and the

  short-term model at this point, had projected

  and try to understand how the events that

  eventually occurred -- what would be the

  reasons that they would differ from what the

  projections had been.

            As you see in this slide, the

  numbers of reasons are many and you can have

  things like the weather, or strikes,

  accidents, you can have changes in laws,

  changes in technologies -- many, many things

  could explain why something that's projected

  today would be different when it actually

  occurs 10 years from now.

            For what we're going to talk about

  today, the only feature of this source of

  error, if that's the right word -- source of

  differences -- not really an error -- source

  of difference between the events and the

  projection, is going to be with respect to

  changes in conditional variables.

  Specifically, we're going to try to account

  for differences in NEMS projections as they

  would be related to differences in prices

  that were projected compared to how the

  prices turned out, differences in an activity

  driver of residential, it would be total

  households compared to how this eventually

  turned out, and also the weather.

            This is really just an illustration

  because the approximation, so called, of NEMS

  was for the 2007 AEO version and the first

  year for which those projections would be

  really NEMS projections, I believe, is 2010.

  So in a minute we're going to look at what

  was projected in 1998 and we're going to use

  sensitivities from the 2007 model.  So this

  is indicative -- or illustrative -- it's not

  supposed to be an actual analysis of what

  went on.  And as you can see at the end of my

  talk what I'm hoping to get from the

  committee is some kind of insight as to how

  to do this.  So this is an example of what we

  want to do but it's the first time through

  and I'm hoping that we can get some good

  ideas from you guys as to how to proceed.

            The basic method is to take

  differences in each of the energy priced, in

  the case of the residential sector, total

  households, the lagged endogenous variable,

  the lagged quantity, and the variable --

  weather variables, and to see how those

  differences taken all together would explain

  the expected difference in the reality versus

  the forecast.

            In the case of price and the

  driver, the sensitivities came from the

  regression analysis of the NEMS solutions.

  For a variety of reasons having to do with

  the practicalities of what was being done,

  the sensitivities with respect to the weather

  variables were done differently.  We just had

  one scenario each for increasing heating

  degree days and cooling degree days by 10

  percent and we took the sensitivities from

  the differences in those runs from the AEO

  reference case.

            In any event, what we're about to

  look at is a projection of residential

  sector, natural gas consumption for the year

  2006, which was the most recent data year

  when this was done, and then we're going to

  take the sensitivities from the 2007

  approximation of the NEMS residential demand

  model, and then parse out the degree to which

  the differences in prices, differences in

  household, and differences in the weather,

  and so forth, would explain the ultimate

  difference between what was projected and

  what happened.

            So this is a busy diagram and

  really the place to look is the very last

  column and further, when you look at this you

  might think, boy, you have a much better idea

  to how to present these data, and I will be

  happy to hear that as well.  But here's how

  to read this diagram, an example.  For the

  first row with data, we see that the

  projection compared to the actual, this is

  the 1998 version of NEMS, projecting for the

  year 2006, that the projection is high on the

  order of a little more than 22 percent.

            We're going to try to account for

  why it would be high by looking at the

  differences between the actual and the

  projected price, number of households, and so

  forth.

            So going to this next line, we can

  see that the projected price was lower than

  had actually happened, and using the

  regression coefficients we would expect that

  that would cause the projection to be 3

  percent high, a little more than 3 percent,

  which is the value there in the last column.

            Households were just a hair low

  compared to what happened and this didn't

  make very much difference, as you see.

            Skip the lag quantity for a moment

  and go down to the weather variable, and

  given global warming, not surprisingly, the

  projection for the winter was that it would

  be colder than what actually happened and

  this would lead to an expectation that the

  projection would be almost 8 percent high.

  If you take price, households, and the

  weather, which are explicitly stated sources

  of difference, I sum those all up and call

  them the explicit source of error.  This is

  my usage -- going through it the first time.

  So you can see that those three influences

  taken together would lead you to expect the

  projection to be something over 10 percent.

  Not much less than half of the difference is

  picked up just in terms of the weather, the

  driver, and the price.

            Then for the lagged endogenous

  variable, which presumably is picking up the

  general inventory of energy consuming

  devices, and so forth, the habits of

  consumption, so called, that also was high,

  and that picked up almost 13 percent, just

  that one influence alone.  So when you total

  them all together, which is the fourth line

  from the bottom, you would have thought that

  the projection would be something over 23

  percent high.  Well, it was only 22 percent

  high, so as a result, there's something

  that's unexplained as to why the projection

  wasn't any higher than it was.  It's a small

  -- just a little less than 1.5 percent --

  part of the difference between what actually

  happened and so forth that we don't know in

  terms of the explanatory variables why that

  would be true.

            Now understand, as I'm sure you do,

  much is left out from this particular example

  in terms of other features, laws, and so

  forth, that we're not accounting for, but as

  it happens for this particular case, which is

  naturally why I chose it, the things that we

  were accounting for were very good.  In other

  words, there's nothing wrong with not being

  able to predict the weather and so forth.

  NEMS, really, in the end, when these

  influences are accounted for, was really

  close to what the actual consumption turned

  out to be.

            In terms of where we are in the

  project, we've basically done everything once

  and as mentioned, the impact analysis is

  really just an illustration for NEMS in the

  case we have to wait for some several years

  before we can actually begin to really take a

  particular model's results and go through the

  decomposition of the differences between

  actual and projected.

            So what we hope to be able to do is

  to begin to vutenize (?) the underlying

  analysis that goes on.  One of the values in

  our minds of doing this, among other things,

  is that you can begin to keep track as to how

  the model is changing over time.  So we want

  to begin to do this for each version of NEMS,

  and we're almost two years behind at this

  point, so we need to take the 2008 version

  when that's finalized and do the same thing.

            We're also working with the

  short-term model which will be discussed

  next, and again, we're going through for

  demonstration purposes, the same sorts of

  sensitivity tests, and our goal is to begin

  to vutenize those and for the short-term

  model, we have, at least as we understand

  things, more of a potential to automate

  what's done and hopefully we can do it on a

  more regular basis than annually.

            From the standpoint, as I

  mentioned, the questions for the committee,

  for what we presented today, I would really

  like suggestions on the impact, whether or

  not the particular way I did it would be

  viewed as proper and even if so, whether or

  not the particular way I tried to demonstrate

  the results was sufficiently useful and

  explanatory as to what we were trying to

  point out.

            MR. NEERCHAL:  Thank you.  We have

  Tom (off mike), but I don't see him.  This is

  his place, but I don't see him.

            MR. KOKKELENBERG:  Tom isn't here

  yet.  I saw him last night at the dinner and

  we both went back to the hotel together.

  That's the last I've seen of him.

            MR. NEERCHAL:  Moshe, you're up.

            MR. FEDER:  It's not fortunately

  for me.

            MR. NEERCHAL:  We need the extra

  time.

            MR. FEDER:  Because a lot of the

  substantive issues I don't -- Moshe Feder.  I

  was going to maybe agree with what Tom was

  going to say.  But I think Tom covered all

  the points.  I think, I just want to first

  comment to

            Make that in addition to the

  sensitivity analysis (off mike), it also

  allows for a certain measure of model

  validation because you can look at the

  sensitivities (off mike) make sense to you,

  if they do, then you have a certain amount of

  model validation and that's a value by

  itself.  That's from my understanding of

  modeling in general because, as I said, I

  don't know enough about that.

            I was also interested to see the

  impact of weather and how sensitive it is and

  I'm wondering if one averaged over more than

  one year, would that -- because, weather, in

  addition to global warming, which is a slow,

  long-term trend, there's lots of variation

  year over year, and if there's any value in

  averaging over two years, for instance, to

  see if that will have some impact.  I don't

  know.

            I think generally the approach is

  very sensible.  I'm just sometimes a little

  bit suspicious of all squares that are.99

  something.  Maybe there's something there.

  I'm not sure I understand all the details of

  the regression to say that, but I think it's

  worth at least considering, are you

  explaining too much?  I don't know.  But

  generally I think the approach is very

  reasonable.  That's all I can say.

            MR. KOKKELENBERG:  I've got some

  comments if you wanted to sit down.

            MR. NEERCHAL:  Yes.

            MR. KOKKELENBERG:  Edward

  Kokkelenberg again.  Several things.  A quick

  story.  One of my former forecasting students

  now does the demand load projections for

  NISIC for natural gas.  And I said, so what's

  your model?  And she -- just last week I was

  visiting with her, and she said, oh, it's

  very simple, it's heating degree days.

  That's it.  That drives the model as far as I

  need.

            But she's trying to do things for a

  very, very short term.  What is it going to

  be over the next week for the amount of gas

  that they have to shove into the pipeline, so

  what they're compressor stations have to

  anticipate, and it's heating degree days that

  drives it, because all the other things, like

  the residential square feet, that's pretty

  fixed.  It isn't going to change over the

  next week substantially enough to affect next

  week's demand for natural gas.  So heating

  degree days does it.

            Well, okay, I asked her to take me

  through the model, and that's going to come

  up shortly, but it's good that you have

  heating degree days in here and I like that.

            I had a number of questions.  First

  of all, this one goes back to the NEMS,

  Preston.  Does the NEMS have built into it

  sunset legislation?  In other words, if the

  government says, we're going to have -- I

  know they don't do this, but -- we're going

  to have CAFE standards of 30 miles a gallon,

  but that legislation ends in 10 years, so

  that you remove that then from the NEMS for

  the future?  I don't know.  Andy may be able

  to answer that better.

            MR. KYDES:  Generally, as Tom said,

  generally we move it unless --

            MS. BROWN:  Andy, can you go to the

  microphone?

            MR. KYDES:  I know this by now, my

  gosh.  The notion in NEMS is that if in fact

  the law has a sunset provision, we do abide

  by that sunset.  However, as in the instance

  of, for example, certain laws, production tax

  credits, for example, that have been -- that

  have had sunset provisions and they've been

  renewed every time they've come up for

  sunsetting.  In those instances, if it's

  occurred long enough, we basically have

  decided not to sunset them because they have

  the history of being renewed.

            MR. KOKKELENBERG:  Thank you.

  Okay, well let me go to George's specific

  questions if I can here.  One of the things

  that -- I found it interesting, the responses

  you got -- let me see if I can find that now

  in here.  Yes.  On your page 15, the impact

  analysis results -- but I'm not sure you're

  going to find omitted variables, George, that

  are going to do this.  Because you're doing

  this in first differences, so many of the

  variables are going to be differenced out on

  first differences even if you admit it.  If,

  you know, the phases of the moon are

  important, they're going to be differenced

  out.  Right?  So when you do a first

  difference equation.  This is annual

  differences, right?  I don't think that's

  going to --

            MR. LADY:  The frequency is annual,

  but the differences are across cases.  This

  is not year to year.

            MR. KOKKELENBERG:  Oh.

            MR. LADY:  It's projected versus

  actual for a given year.

            MR. KOKKELENBERG:  So you're taking

  the difference between your actual and

  projected is your difference that's running

  the model, the actual regression when you

  calculate the elasticities?

            MR. LADY:  We calculate the

  sensitivities with the regression and then we

  presented them as elasticities because

  they're just easy to understand, but we use

  the regression coefficients themselves in the

  impact analysis.  Take the projection for the

  year 2006, just to stick with this specific

  example --

            MR. KOKKELENBERG:  Yeah.

            MR. LADY:  It was made with a 1998

  version of NEMS.  Then when the time came, we

  took what actually happened (off mike) and we

  also did that for price, for households for

  --

            MR. KOKKELENBERG:  Okay, alright,

  so your differencing between an actual and a

  projected?

            MR. LADY:  Yes.

            MR. KOKKELENBERG:  Hmmm.  Now I'm

  not happy at all.  So well that might mean

  the omitted variables may still have an

  influence then, but I don't think you could

  just simply add up the percentages because

  they're weighted by their coefficients as to

  how much they influence the regression,

  aren't they?

            MR. LADY:  We didn't weight it.

            MR. KOKKELENBERG:  No, you said the

  percent impact.  When you're on the last

  column and you came to an unexplained --

            MR. LADY:  True.

            MR. KOKKELENBERG:  I wouldn't do

  that.

            MR. LADY:  Okay.  That's why I

  asked.

            MR. KOKKELENBERG:  That to me is

  not very meaningful because each coefficient,

  or each one of these explanatory variables,

  has a weight from your regression.  Some of

  them enter in with a value like.6,which I

  think is on the weather, and -- no,.0007 on

  the weather, and.6 on the lag values -- okay?

  --.03 and.04 on prices and square footage in

  the households, so you just can't add the

  percentage impact up.  I don't think.  If I

  understood the way you did it -- if I

  correctly understood the way you did it, I

  don't think that -- and we can talk afterward

  if you want.

            MR. LADY:  Well, if you look at the

  difference column, that's the difference in

  the metric of the variable between what was

  projected and what was actual.

            MR. KOKKELENBERG:  Right.

            MR. LADY:  For the explanatory

  variables, I just multiplied that difference

  by the regression coefficient --

            MR. KOKKELENBERG:  Oh, you did that

  already? Okay.  So that -- alright, alright,

  then you've done what I thought you didn't

  do.

            MR. LADY:  Yeah.

            MR. KOKKELENBERG:  Thank you.  So

  that's covered.

            MR. BLAIR:  That's just in a sense

  percent of the difference, percent of the

  error that's being driven by that --

            MR. KOKKELENBERG:  Right.

            MR. LADY:  Yes, the percentage

  column is just to make sense of it, to

  interpret it.

            MR. KOKKELENBERG:  Okay.  Let's

  see, there was one other -- there are a

  couple of things here, but they're all small,

  but the one other thing that -- I looked at

  the paper that came with this and I was

  surprised to see that this approach shows

  that the elasticities for residential gas and

  electricity sound sensible, like -.08 with

  respect to price, but they were so high for

  commercial gas and electricity, roughly.1

  and.2, negative, of course.  And that said

  that the commercial sector responds extremely

  quickly to changes in the price.  Now I know

  this data isn't based on a quick change

  because you're looking on a projected versus

  an actual, but I would say that those

  elasticities are relatively high compared to

  what somebody like John would find from his

  many studies of things in terms of fuel

  switching or what have you, having an

  elasticity of 10 percent or 20 percent for

  energy inputs in the commercial sector, it

  appears to me it would be higher.  Now if

  that's consistent then John may be willing to

  argue with me on that.  I don't know.

            MR. LADY:  Well, I would like to

  call this data constrained model.  I mean,

  what we did is we changed the price variable,

  and on the case of commercial, the floor

  space variable.

            MR. KOKKELENBERG:  Yes, no, I

  understand that.

            MR. LADY:  High, low, base, as many

  different combinations --

            MR. KOKKELENBERG:  You've got a

  model.  Your model comes up with some sort of

  regression results and you use those

  coefficients and these various scenarios you

  constructed and you calculated these

  elasticities.

            MR. FEDER:  This illustrates my

  point on model validation because the

  sensitivity shows to you that the model

  doesn't agree with what John and you know

  from experience, so that's why it's also

  model validation, I think.

            MR. KOKKELENBERG:  Right.  In fact,

  the whole exercise I used for that to be

  something that is going to have to be done if

  you're going to keep relying on the NEMS,

  you've got to test this with real live data

  eventually to see how it's doing.

            MS. BOEDECKER:  This is Erin

  Boedecker.  I do some of the commercial

  sector modeling for NEMS, and as far as the

  elasticities go, long-term elasticities,

  these are in the ranges of what the

  literature says.  Now there are very few

  studies that we have found that concentrate

  on or focus on the commercial sector, but it

  is within the range of what's been found in

  the past.

            MR. NEERCHAL:  Cutler and then --

            MR. CLEVELAND:  Do you want Tom to

  go ahead and give his (off mike) schedule?

            MR. NEERCHAL:  If he's ready.  Yes.

            MR. RUTHERFORD:  I apologize.  I

  realized sort of late that I was late and

  then I got on the train going the wrong

  direction.  I'll make an effort to try to

  make up for it.  I regret not being here for

  the talk.

            My basic sort of concern had to do

  with -- you're going to have this

  approximating equation, sort of just look at

  the sort of big picture regression of the

  results that come out of the model, I was

  wondering about the specificity -- the test

  of the structural specification of the model,

  whether you had looked at any other

  specifications or used some sort of test for

  whether or not the model -- use of the linear

  representation was justified either way.

            MR. LADY:  Yes.  We tested the use

  of the linear function two ways.  First, to

  see whether or not, including only the own

  price of the fuel was acceptable, so we

  looked to see whether or not there were

  cross-price effects of any magnitude that

  would suggest that more than one price should

  be in the equation.  And the answer was no,

  that the cross price effects were

  sufficiently negligible that they could be

  ignored.

            Then second, I tested the linear

  form by changing price all by itself --

  there's a test for linear.  So the first

  column after the year column is the change in

  residential electricity consumption from the

  base case given a 25 percent increase in

  price only.  The second -- this is

  residential, so the second is going to be due

  to a reduction in households only.  Then I

  added them up and that's the sum column.

            Then I lay out a case where I made

  both changes at the same time and that's the

  d both column, and then I took the ratio, and

  as that ratio was close to one, the linear

  forms seemed acceptable and it even is close

  to one.  So we not only did that for many

  different fuels, but one of the suggestions

  of the model (off mike) for me was to redo

  this at the regional level and at the

  regional level (off mike) to these tests also

  survived.  So that was how I justified that

  form.

            MR. RUTHERFORD:  So there's a paper

  in a volume by Pagan and Shannon (phonetic)

  that looks at -- that emphasizes that for

  small changes the linear representation.  So

  I mean, I just think it's good that you've

  tested that so you know that they're within

  the shocks that you're doing.

            There's a general literature on

  summary function methods for representing

  which is sort of similar to what I think in

  spirit you're doing here.

            I mean, you have access to the

  model so you can actually assess the model

  performance and then you can look at -- if

  you take the estimate equation and then see

  how it works for external data as well, then

  you can compare them between the two, and I

  can give you a couple of sites --

            MR. LADY:  Please do.

            MR. RUTHERFORD:  -- by some (off

  mike) economists who have worked on these

  methods.

            MR. LADY:  Thanks.

            MR. NEERCHAL:  Cutler?

            MR. CLEVELAND:  Yes, I had a

  question about the -- this is Cutler

  Cleveland, Boston University.  The lag

  quantity which takes -- it's a lot of your

  unexplained variation.  Can you -- your

  economic and behavioral interpretation of

  that lag quantity is what?

            MR. LADY:  Well, the intuitive word

  would be habit.  So what would be the habit

  and in a factorial consumption series it

  would be basically the inventory of energy

  consuming devices, the efficiencies of those

  as they would grow over time.

            So you have bumps in consumption

  due to weather, economic factors, and so

  forth, but there's still a robust trend in

  this -- I don't know -- habit, so to speak,

  and so the lag endogenous variable

  traditionally is used to keep track of that.

            MR. FEDER:  It's called inertia.

  Inertia.

            MR. LADY:  Inertia.  Yes.

            MR. CLEVELAND:  So I'm just curious

  as to -- that such a variable is responsible

  for such a big fraction of your unexplained

  difference, what -- have you thought about

  trying to -- it suggests to me there's a

  specification issue perhaps that you're not

  perhaps -- is there any way you can measure

  that?

            MR. LADY:  Well, now you speak to

  scope.  First of all, many things that the

  lagged endogenous variable would presumably

  be picking up are explicitly there in the

  NEMS assumption database and depending on

  what you found in this first go through, you

  could very well want to take those variables

  out and have them explicitly in the

  specification other than just lumped

  implicitly in that one variable.

            But it's like a lot of other things

  -- time and money.  It gets to be very

  expensive.  Most of the literature I've seen

  tends to focus on the small number of the

  weather and so forth, but I would think they

  would be learning by doing.  I mean, if this

  were pursued, then this is clearly

  incomplete.  There are clearly things that

  make a difference which aren't being taken

  into account.  Some of those are right there

  in the database and they would be -- the

  tradition would pick them up I would hope.  I

  agree entirely.  Yes.

            MR. CLEVELAND:  That relates to --

  my second question is -- this is a more

  general question.  So how does the EIA

  envision taking this approach and applying it

  to -- I mean, here's one particular case, one

  particular forecast.  We make a zillion

  different forecasts.  What's the decision --

  how is this being systematized to NEMS as a

  whole?  What are you going to pick?  You

  can't check the accuracy of every forecast in

  the mile, so how are you going to use this

  approach to let the general readership of

  consumer, of NEMS information, know what

  you're doing in the validation front?

            I mean, we just spent yesterday

  looking at a letter from Barbara Boxer who

  reamed you for a really important forecast

  miss, so, you know, it would be interesting

  to see this methodology applied to that, for

  example.  So how do these choices get made?

  What's the general idea of EIA to help

  relieve these concerns and questions that

  people continuously have about model

  validation and so on?

            MR. LADY:  Well, I'm not so sure

  that I should speak for EIA.

            MR. CLEVELAND:  No, I was assuming

  you would.  It was a general question --

            MR. LADY:  I'll give you my

  opinion.  In my opinion, there's a long way

  to go to be able to do this analysis

  sufficiently.  I know that the next time I

  try to do it I will be smarter about how to

  do it.  We can do it a lot quicker.  In my

  opinion, something along these lines that

  would be done with respect to every AEO

  version of NEMS, seems to me would be

  feasible, would be a very nice product in

  terms of interpreting the forecasts and if

  it's done correctly, and it would take some

  aggressive interface to make sure it is done

  correctly in this sense, it would support the

  modelers from a diagnostic standpoint as

  well, and as was mentioned, gives sort of a

  validation feature to the work.  So I would

  -- I get to be outlined in a way that was

  practicable to do annually.

            MR. CLEVELAND:  What is --

  Stephanie, Howard, any sense of what -- we've

  been doing this exploratory thing now for a

  number of years.  I'm just wondering if --

  what's the thinking in terms of making it

  part of NEMS?  Any -- a lot of silence.

            MR. GRUENSPECHT:  No, there's not

  silence.  There's really a question of

  resources, I think, in our early -- I guess

  that has to do with finding a way to do this

  stuff very efficiently and more systematized,

  but it strikes me that, you know, this kind

  of very narrow diagnostic experiment, if you

  -- not sure I know what's involved in the

  contracting and the cost of it, but it

  strikes me that if you apply this sort of

  across a broad model, at least, once it could

  be made much more efficient, this could be a

  significant resource issue.  We have some

  significant resource issue so that would be

  the -- should we be doing model validation at

  this time?  I think so.

            MR. CLEVELAND:  Well, it seems to

  me there's a big start up cost to be paid --

            MR. GRUENSPECHT:  Right.

            MR. CLEVELAND:  -- and that once

  the system is up, then you can -- the

  marginal cost becomes much --

            MR. GRUENSPECHT:  Lower.

            MR. CLEVELAND:  -- much lower.

            MR. GRUENSPECHT:  Right.

            MR. CLEVELAND:  And it just seems

  that what really -- I know you're up against

  a wall financially, but --

            MR. GRUENSPECHT:  Right.

            MR. CLEVELAND:  -- in terms of

  dealing with some of these criticisms that

  you're getting both small and large, this

  would go a long way towards helping you

  respond to them in a systematic way --

            MR. GRUENSPECHT:  Right.  Well, one

  of the things I'm very interested in is how

  useful you think this is.  I mean, you know,

  it sounds like we're hearing a fair amount of

  support for this type of approach.

            MR. CLEVELAND:  I think -- I

  wouldn't -- I demand of my masters students

  model validation when they do their term

  papers, so it seems pretty basic to me.

            MR. WEYANT:  I wonder if there

  isn't a middle ground here.  I put my card up

  because I was going to ask the same question

  but in a lot more of an awful way, but in

  listening to a guy like (off mike) it's in a

  middle ground between the (off mike)

  excellent, but fairly narrow, carefully done

  study.

            You know, one thing you can do is

  send this to Diane Feinstein, by the way, and

  say, so there.  But I don't think that really

  helps.  So part of it comes back to

  communication and I wonder -- this is right

  on Pepper's point, if there isn't a way to

  think through how you would -- the game plan,

  which might be part of a proposal for more

  resources.  I mean, clearly, if it was me, if

  I was in charge of the budget and it was

  totally incremental, not a substitute for

  something else, I'd put a lot more money into

  this and don't hold the thing up, but the

  other thing Cutler touched on was this

  timing.  We were kind of waiting, waiting,

  waiting, and these guys are yelling, yelling,

  yelling.  You just think -- in terms that you

  could think of maybe starting at the other

  end and going back to things that the senate

  guys either ask for or could have asked for,

  and sort of start at least decomposing that

  in a way that say George would do without yet

  doing the analysis just to kind of say, given

  this forecast of prices are (off mike) supply

  and demand or price of what is it that seemed

  to be the major factors, because even here,

  you're going to end up with this lag thing

  and lag prices or quantities or things like

  that (off mike) but you can at least think

  about that a little bit more drilling, a

  little bit more deeper, than when you had bad

  quantities, you know, things you sort of

  talked about before, is that the composition

  of industrial output or is it bad data?  You

  know, what more of a decomposition of errors,

  I guess, before you actually do something

  more significant.

            This is mostly focused on the model

  as that thing, but if you're convinced, I

  think you convinced us yesterday that it's

  kind of about forecasting and it's kind of

  not, that if you have a projection that's

  different, that people are focusing on either

  rightly or wrongly, it would be nice to know

  a little bit about why that is.  It actually

  gives you more credibility to say, we didn't

  forecast the weather, how was your weather

  forecast Mr. Congressman?  As opposed to

  something that you might, you know, might be

  more, you know, from surveys or data things

  that you can -- you can't do and then in

  between there are kind of data from the

  economic projection or historical guides that

  are wrong.  It would be nice to know what

  category those things -- so I guess I'm

  marketing for -- it's right on Cutler's

  point, doing something -- I don't want to use

  the words quick and dirty, but kind of more

  preliminary, because that would help flush

  out and give some guidance to this project on

  which direction to go on, at the same time

  giving you more ammo to respond to some of

  these requests to the extent you want to.

  You may just say, this is just politically

  driven and the questions are so ill formed.

            So I actually would say, even for

  Howard, it would be useful to get a group

  together to just think through that (off

  mike) high cost because you guys are all so

  time constrained, also, but probably, we're

  flying on the margin just to get things, you

  know (off mike).

            MR. NEERCHAL:  Derek.  Last comment

  on it because we need to be --

            MR. BINGHAM:  I'll be really quick.

  So first thing I'll say is George actually

  reached out to me but I didn't have lot of

  time to chat with George, so I'm sorry about

  that.

            So the first comment I would have

  -- so he's asking about, you know, the impact

  analysis and where should we go, is this good

  enough kind of thing, and the first thing I'd

  say to a lot of the people here, you get the

  sense, I'm sure, is that understanding a

  computer model and trying to -- something as

  complex as this is actually a pretty hard

  endeavor to do.  And I think I made this

  comment a few years ago -- are you getting me

  by the way?  Okay.  I made this comment a

  couple years ago that there's a lot of people

  doing model validation of complex computer

  models.  And the best people in the world

  doing this actually work for DOE and they're

  in Los Alamos and Sandia and probably, I

  guess, Livermore, but I know the Los Alamos

  group, you know, they'll do this where

  they'll look at the components, if you will,

  for a nuclear weapon, and -- of course,

  they're not allowed to blow them, up, so

  they'll look at -- they'll build computer

  models putting all the different components

  of a weapon together and try to predict

  liability of the stockpile and things like

  that.

            These are the people -- I mean,

  you've got this stuff working for your

  organization, while not EIA, DOE certainly.

  And one of the places to go is to reach out

  to these guys because they're doing this.

  Not with economic models, but they're doing

  it with ultimately limited amounts of real

  data and complex computer models and they're

  integrating a whole bunch of different

  components in sort of the larger computer

  system, computer model, consists of a whole

  bunch of different, complicated computer

  sub-models much like NEMS is at some view

  from a higher level.

            So this is what these guys do for a

  living and I would reach out to the stats

  group at Los Alamos.  They do this.  That'd

  be the first thing I'd say.

            I do have a quick question.  I was

  going to ask this yesterday, so this isn't

  necessarily related to you, but it's related

  to NEMS in general.  There are inputs into

  this computer model and some of these inputs

  are also projections of their own, and so

  there's a whole bunch of stuff that goes into

  this and out comes some other stuff.

            When this is taken -- when you're

  running this code, not just you but the NEMS

  people in general, are the distributions of

  the inputs actually taken into account when

  you run them?  So for instance, if I say,

  this is weather, it's stuck in, off it goes,

  end runs, and there's my projection?  Or do

  you sample weather from a distribution of

  weather and then run it for a bunch of

  different scenarios?  I'm not talking about

  scenarios that you choose, I'm talking about

  running it from the distribution, saying this

  is the way that weather varies because the

  way that these, all the variables go, and

  then the way their joint distributions

  interact is going to impact the forecast and

  also impact your confidence intervals and

  things like that.  So what people mind find,

  for instance is that, well, when you average

  over weather and average over price, or at

  least a -- I'll say a prior distribution

  without getting us into any statistical

  arguments, but a prior belief of how these

  things are going to vary, you might with,

  I'll say, a more realistic confidence

  intervals and more realistic estimates.  I

  don't know if that's what's happening.  I

  don't know.  So that's part of question.

  When you run NEMS, are the inputs fixed

  constant or are they samples from a

  distribution?

            MR. LADY:  Well, I can't speak for

  NEMS, but it is my believe that they're not

  sample from a distribution.

            MR. RUTHERFORD:  But it's more

  complicated than that. Because you're

  projecting sort of a physical science

  approach onto a model of social science

  process.  It's much more complicated.  The

  fact that you forecast a thunderstorm doesn't

  affect the probability that the thunderstorm

  is going to happen, right?  So there's this

  role of expectations that's rather important.

            MR. BINGHAM:  So that's what I'm

  after, though. So for instance, if I'm

  looking at the -- you're right, so I am

  putting a physical science sort of thing on

  this, but for  instance, if I want to know

  the amount of pollution that gets into the

  ground water in Santa Fe from Los Alamos, for

  instance, because of a chemical spill, well,

  you can't project that as a number.  But what

  you can say --

            MR. RUTHERFORD:  Of course.  The

  (off mike) is that you can demonstrate the

  model can be approximately linear over the

  domain that's relevant to the analysis, then

  you can do all your stochastic, your

  sensitivity distribution, all on your linear

  model and it's very, very simple.  That's the

  paper by Pagan and Shannon.  So you can

  demonstrate them locally.  Your deterministic

  model gives you a linear map and locally to

  the policy area.  Then you can do -- then you

  can apply all of the input distributions

  including being jointly distributed and do

  the assessment on the outside.

            MR. BINGHAM:  Well, either way that

  has to be done somewhere when you're

  averaging over those distributions.  That's

  the same thing that came up yesterday when

  they were saying, well, why does your

  prediction, which is an outlook, it's not a

  forecast -- I still haven't gotten my head

  around the difference -- but they viewed it

  as a forecast, and they say you're way off,

  right, but my question for them was, you

  know, from the folks who were running this --

  was this an average forecast or average

  outlook over the distribution of all the

  inputs and with that, what you might have

  found was that the confidence intervals,

  because you're taking the uncertainty due to

  all the other inputs -- the confidence

  intervals would be much wider but certainly

  would be more realistic.  That's my stats

  table.

            MR. KOKKELENBERG:  Isn't that a

  simple -- a Monte Carlo?

            MR. BINGHAM:  The answer is you

  would do this through quasi Monte Carlo.  You

  wouldn't do it through Monte Carlo.

  Absolutely.  Absolutely.  But the effort is

  then put into understand the distributions of

  those variables before and to get those

  uncertainties.  Now, sometimes you can

  theoretically be able to transmit those right

  through, but chances are that NEMS is

  complicated enough and these sorts of models

  are complicated enough to break down an

  equation that says, here's the equation for

  the variance (off mike).  Probably, you would

  do some quasi Monte Carlo exploration and the

  effort would go into understanding the

  distribution -- part of the effort would go

  into the understanding of the distributions

  of the inputs to NEMS.

            MR. NEERCHAL:  So it looks like two

  quick ones.  I think we need to -- Sorry.

  I'm letting the discussion go on.

            MR. KOKKELENBERG:  Very quickly.

  You mentioned that you were happy with that

  R-squared.  In looking at that, I wonder,

  George, did you do any tests of the residuals

  in any way besides the R-squared?

            MR. LADY:  No.

            MR. KOKKELENBERG:  I would take a

  hard look at that because that to me is --

  that's indicative as somebody said yesterday,

  to me that something's wrong.  If you get an

  R-square like that, it indicates that your

  model is either misspecified or you've got

  serious omitted variables.  You've got a

  quadratic instead of a linear relationship

  and  you're --

            MR. LADY:  What about the

  R-squared?

            MR. KOKKELENBERG:  It's too high.

  Way too high.  You don't want an R-squared

  that high.  It tells you there's something

  seriously wrong with the specification or the

  data or omitted variables.  That's a problem.

  The dynamics in the model are not being

  accounted for.  There is some dynamic

  structure there that is just driving your

  R-square.

            MR. BINGHAM:  It's that lag term.

            MR. LADY:  It's the lag term.

            MR. KOKKELENBERG:  Well, it could

  be the lag term and so (off mike) the first

  difference equation, but you're using

  differences in a different sense, and maybe

  you should be using the lag term and look in

  the difference equation.

            The other thing is, it may suggest

  that really what you're looking at is an

  accounting identity.  Okay?  And I don't

  think you are, but maybe you are and you

  might want to ask (off mike).

            The other thing though is to build

  on John's idea, and I think his idea was

  good.  If you're going to validate a model

  like this, maybe you shouldn't focus on

  things that Feinstein aka Boxer asks, or you

  should just do total quads.  If you can

  forecast total quads reasonably well, I think

  you can say, look, our NEMS model is good in

  the totals.  Now, there's always going to be

  fuel switching and different political things

  and technological things that might come into

  account, but on the whole we can forecast

  quads well, let's validate that.  And then

  start working down towards the pieces.

            MR. NEERCHAL:  I think, you know,

  the next topic is any way related, is easy to

  come back to this one so I'm going to suspend

  the discussion here now.

            MR. KOKKELENBERG:  Could I make one

  proposal?  Without asking (off mike) making a

  comment.  In the integrated assessment model.

            MR. NEERCHAL:  And no follow-up

  discussion.

            MR. KOKKELENBERG:  Actually, it's

  building on Derek and Tom's comment.  In the

  integrative assessment world, this is

  basically done through a basic (off mike).

  There was actually a huge debate between the

  climate model and some integrative systems

  model about how to do (off mike) analysis of

  model validation.  It isn't exactly the same

  as this case here but it's close enough.  One

  of my jobs is to kind of queue so I have

  actually a (off mike) uncertainty analysis in

  model validation on the difference between

  the different disciplines.

            I think it's kind of instructional

  so we could then maybe have a sub group of

  this group work on this offline and just

  distill what seems to be useful for this

  group back to this group.

            MR. NEERCHAL:  And I think

  especially what Derek was saying, there's a

  lot of stuff going on in the statistical

  literature.  So it sounds very similar to

  what Pagan and Shannon see in the numbers 25

  years ago, you know, Jerry Sacks and Ellie

  (off mike) and those people.  So it seems

  like some dialogue is necessary.

            MR. LADY:  For me, it's much more

  active now because of the complicational

  increases.  Things that weren't

  complicationally feasible are now, so it

  actually reopens.  The literature really is

  -- maybe more than 25 years old.

            MR. NEERCHAL:  Twenty-five.  Long

  time.  Andrew Buck?

            MR. BUCK:  Good morning, everybody.

  Thank you for giving me the chance to speak

  to you today about work that George and I are

  doing on the regional short-term energy model

  and assessing their forecast accuracy.

            With respect to this part of the

  project we also have some goals.  The part

  that I'm going to talk about today are

  regularizing the assessment of forecast

  errors out of sample forecast errors, and

  then running the same model once the

  exogenous data becomes known, what our

  forecast errors look like, and then if we put

  in an important segment, an important piece

  in the modeling effort in RSTEM called the

  add factors that would otherwise be referred

  to as modeler judgment, can we come to grips

  with how important better knowledge is, and

  how important is the judgment of the RSTEM

  staff in constructing their forecasts.

            So that's what I'll be talking

  about today with specific reference to

  natural gas and electricity.

            Another direction that we're headed

  given that we have an enormous archive of

  models and exogenous -- realized exogenous

  data now, is to look at the same kinds of

  forecasts between the different model

  versions.  From time to time, the segments of

  RSTEM are re-specified and re-estimated and

  so it would be -- it's useful to see whether

  or not we're getting better at what we do in

  revisions to the model.

            Another goal that we started to

  work on in the spring are how good a job are

  the other agencies that we rely on actually

  doing.  So there's been substantial

  discussion already this morning about heating

  degree days and cooling degree days which

  come from NOAA and one of the questions that

  comes up is whether or not they can help us

  improve our forecasts by improving their own

  forecasts.  And given the forecast that they

  do make and what eventually happened, and our

  model, what would they have had to forecast

  in order to make our model work correctly,

  produce a perfect forecast, so there is a way

  to back that out and we could look at the

  difference between what actually happened to

  weather, what they told us was going to

  happen to weather, and what their forecast

  would have to have been for us to get a

  perfect forecast.  So we had started that and

  we did a little preliminary presentation to

  Tank earlier in the spring and have not had

  time to come back to that.

            So today we're going to talk about

  the first set of goals, that is regularly

  measuring forecast errors out of sample,

  doing the same forecast once we know the

  exogenous data, and then doing the whole

  exercise again incrementing, or including the

  judgments provided by the RSTEM staff, and in

  the paper that was distributed to you and the

  full slide show which you also got, we looked

  at natural gas and electricity for

  residential, industrial, and commercial

  sectors across the nine Census regions,

  although there are certain websites in the

  Bureau of the Census and energy that it seems

  that regions and divisions are used

  interchangeably.

            There's a little bit of confusion

  over that.  But in any case, I have some

  rough characterizations of the equations --

  by the way, RSTEM is strictly an econometric

  model.  It's a structural econometric model,

  because the folks that run the short-term

  energy outlook are both responsible for

  forecasting and also trying to assess the

  impact of policy changes.  And policy changes

  are best modeled in economics at least, with

  structural models whereas we might prefer to

  use Box-Jenkins kinds of approaches if all we

  had to do is forecast.  But RSTEM is trying

  to do both so it pays us to take a short look

  at some of the equation specifications so

  that for example residential natural gas is

  modeled as consumption per consuming

  household as the depend in variable, but when

  we take a look at industrial natural gas,

  that's being modeled as the log of a share of

  total consumption, and then when we go to

  commercial, it's just completely unscaled

  quads of natural gas that we're trying to

  forecast so that what we're trying to

  forecast shifts depending on the sector and

  in some cases even the region as well as the

  particular fuel that we're talking about.

            The typical set of variables

  included on the right-hand side of course

  includes monthly dummies, especially

  important for natural gas and electricity

  because the weather changes throughout the

  year and as we've already heard, weather is

  an essential component of any forecast in

  energy consumption.

            In order to make this a more

  structural model in nature, there was an

  effort to get price in on the right-hand side

  and in effect what they've done is include

  lag real expenditure on natural gas so that

  the price of natural gas enters these

  structural equations as a demand equation.

            Let me skip ahead in my own notes.

  So again, for electricity, I have a slide in

  here which shows the same kind of

  information, how we model the depend in

  variable, and it shifts depending on the

  particular sector and the particular region,

  but there's a certain amount of consistency

  across all the sectors and energies and

  regions.

            Just to give you an example of

  what's done, I included the residential

  natural gas demand equation for the

  East/North/Central region, and there are a

  couple of things that are noteworthy in this,

  and that is that while the coefficients are

  often statistically significant, they appear

  to be numerically quite small.  We don't have

  any -- and that's a scale problem, but we

  could rescale the right-hand side variables

  and move the decimal around but they appear

  to be numerically quite small, but one of the

  things that has come out of what George has

  already done with the RSTEM model and which

  is included in the longer paper that was

  distributed is that although the coefficients

  appear to be numerically quite small, they

  produce quite plausible elasticities.

            The other thing that's noteworthy

  about all of this is that although I don't

  have -- I did not include in the slideshow or

  in the longer paper some examples of these ad

  factors that are being included in the

  behavioral equations, they in fact are even

  smaller than any of these coefficients, like

  an order of magnitude three times smaller.

  So numerically they don't appear to be very

  much but as we'll see a little bit later on,

  they do improve, although they're numerically

  small, they do improve in many cases the

  quality of the forecast that's being made.

            In this slide I was looking at the

  forecast errors made in forecasting natural

  gas for residential, industrial, and

  commercial sectors, and so the forecasts are

  in groups -- there are three major sectors

  and within each sector there are three rows

  so that we have an out of sample residential

  forecast and going across the row, this is

  the average forecast error across the nine

  Census regions one month out.  So when they

  ran the model at the beginning of October to

  do the October natural gas for residential

  forecast, they made a 22 percent error.  In

  their two month ahead forecast, the error

  came way down.  They only made a 3 percent

  error.  By the time they got out to three

  months out, their percent error fell to 1.4

  percent averaged across all the nine regions.

            So reading across the row you can

  see how much better they are further out than

  they were in the near month.  If you read

  down the column, you can see what was gained

  first with learning what did happen with all

  the exogenous variables, things like weather,

  and then going down one more row, you can see

  that their ad factor didn't play a big role

  in improving the forecast a month out.

            When you come all the way out to

  March which was six months ahead, in fact,

  the exogenous -- knowing the exogenous data

  improved things, but their ad factor, their

  judgment, made things a little bit worse.

            So this is an exercise where in the

  coming -- well, starting this last month and

  this month, as the price of oil is plummeting

  very quickly, the add factors will become

  increasingly important because modeling those

  sudden changes, those sudden drops would be

  very difficult.  And so this is a way to

  begin to sense whether or not the staff is

  really good in their judgment in assessing

  what's going to happen and revising the

  forecast that they're getting.

            So there are a couple of things to

  observe about this.  The asterisks are kind

  of a rough and ready test of significant and

  so for example, in October, this is the

  average percent error where the average is

  taken across the nine regions, divided by the

  standard error of the percent error forecast

  for that -- so it's a very rough and ready --

  it's not a statistically correct standard

  error that I used in this rough and ready

  seat of the pants test of significance, but

  it gives some sense of whether or not the

  forecast error they made was different from

  zero.

            So the encouraging thing, of

  course, is that there are very few of these

  asterisks in the table.  Their forecast

  errors are not different from zero very

  often.

            As I already pointed out, for

  residential natural gas, of course their one

  month out forecast was last October, it was

  quite large, and that could be driven by an

  abnormality in the weather that they didn't

  expect, it could have been driven by a poor

  weather forecast, it could have been driven

  by the fact that a year ago, and 14 months

  ago, NOAA was releasing its weather forecasts

  with some delay so that the poor folks that

  were running RSTEM never had the most recent

  weather forecast at the time that they were

  running the model to construct a one step

  ahead forecast.

            Just to summarize the table

  quickly, one of the things that we see is

  that if you read down any group of three

  rows, once the exogenous data becomes known,

  and then once you add in the add factor, you

  incorporate the add factor into the model

  run, things are getting better so that

  knowing more and relying on judgment is

  improving the quality of the forecast.

            We did the same thing for

  electricity and the same kind of pattern is

  observed although for electricity, the errors

  are by and large much smaller than they were

  for natural gas.

            And again, going down the column,

  more knowledge and judgment is better and

  going across the row, by and large, the

  further out we're forecasting, the better we

  get.  Why that happens, I'm not quite sure,

  but it's something that's worth noting.

            There's an emerging literature, or

  not emerging -- there is a literature that

  examines the source of errors in NEMS and

  RSTEM, and a common observation in the

  literature is on average, the models do a

  pretty good forecasting job but when you look

  at the individual pieces, the forecasting job

  seems to deteriorate.  So for each of the

  fuels and regions and sectors, I produced a

  graph of the percent forecast error.  So in

  this panel, we're looking at residential

  natural gas consumption in physical units,

  and the left-hand panel is what I termed a

  good forecast in the sense that the out of

  sample forecast which is the blue, although

  they made a fairly large error in the first

  period ahead, one period ahead, they're out

  of sample forecast settled down and came down

  close to zero pretty quickly, and they did no

  worse than having the actual exogenous data

  and adding their own add factor.  On the

  other hand, in the right-hand panel, we have

  an example of the bad, which is a look at the

  same residential gas consumption but for the

  Pacific region, and there, the out of sample

  forecast is not too good and once the

  exogenous data became known and we throw in

  the add factors, we didn't improve things at

  all.  If anything, we got a little bit worse.

  And so that begs the question -- the model

  validation question of, maybe we need to take

  a serious look at residential gas consumption

  in the pacific region.

            Moving ahead to industrial natural

  gas demand, we see the same kind of thing.

  In this case there are a total of nine of

  these graphs and I picked out the best of the

  nine and included that in the left-hand

  panel, and even the best is not too great

  because it's not until the -- rather the out

  of sample forecast is pretty good, once we

  incorporate the exogenous data into the

  model, things deteriorate very quickly and

  it's the judgment of the staff that brings

  things back in line.

            So, again, this begs the question

  of whether or not further thought needs to be

  given to modeling industrial natural gas in

  the East/South/Central region, and the same

  kind of story for the Pacific region.  The

  Pacific region is the bad case that I looked

  at, and again there's something going on in

  the Pacific region that begs further

  attention.  So given the time limitation,

  I'll skip ahead to residential electricity

  consumption where, again, for residential

  energy consumption, I picked out the best

  forecasting results for that October release

  of the model and again, the out of sample

  forecast in the blue line, the green and the

  red are how our forecast changes with the

  inclusion of just the exogenous data and then

  the red is the exogenous plus the add factor.

  And we do moderately better once more

  information becomes known and we incorporate

  our own knowledge of how things ought to

  work, but there is also a bad, which is the

  South Atlantic Census region where arguably

  we make, in the beginning at least, in the

  first three months, we make things much

  worse.  SO perhaps there's an issue of model

  reconstruction or reconsideration here.

            Skipping ahead to commercial

  electricity consumption, amongst the nine

  Census regions for commercial electricity

  consumption, the out of sample forecast on

  the left, the blue line, is really chaotic.

  There are huge swings in the forecasts and

  it's not until we know the exogenous data and

  we incorporate our judgment that we bring the

  model back.  And so again, it may be that we

  need to think about, we shouldn't have to

  rely so heavily on learning the exogenous

  data truth in improving the quality of our

  forecast.  And this commercial electricity

  also provides an example of the really ugly,

  and the really ugly is that the out of sample

  forecast of RSTEM was quite good, but once we

  learned what the exogenous data really was

  and added our judgment, we made things worse

  and so apparently commercial consumption of

  electricity, again in physical units,

  warrants some further attention.

            So what we have done begs some

  questions from the ASA committee.  I showed

  you 8 graphs out of a total of 54, for one

  version of RSTEM.  So at this point at home

  on my computer I have 12 releases of RSTEM

  with various revisions between the 12 various

  re-estimations here and there, so I would

  have 6,000 graphs to pour over.  So one of

  the questions that comes to mind is given

  that we would be looking at -- if we looked

  at the whole archive that I have, just the

  last 12 months, is there a way to come up

  with single valued measures of how badly

  we're doing or where we need to look for, or

  how -- yeah, where we need to look

  specifically?  Another question that comes to

  mind is, I gave you, on the basis of

  eyeballometrics, I picked out certain sets of

  graphs to represent the good, the bad, and

  the ugly.  There ought to be a way to

  systematize that so that it's not the

  judgment of the person sitting and looking at

  the graphs to pick out which are the good

  fuel regions and sectors which don't need

  further analysis, and those which we continue

  to do poorly, so that we're not trying to

  look through 6,000 graphs and decide where to

  point our attention.

            Another question that comes to mind

  is, whether or not it would be useful to

  divide up the forecast errors in the kind of

  approach that George has used where we're

  trying to allocate the forecast error to the

  forecast error that was passed on to us by

  NOAA or by Global Insight or some other

  source of the exogenous data forecast that is

  being used in the RSTEM runs.

            And the last question that I put up

  here, what other methods are used to track

  down the source of errors in big models?

  That was in part answered when it was

  suggested that we get in touch with the folks

  at Los Alamos and see what methods they're

  using for the validation of really big,

  complex, econometric models.  I don't know

  how familiar everybody in the audience is

  with RSTEM, but there are about 500

  behavioral equations and once you throw in

  all the definitions and identities that are

  used in closing the model, there are over

  4,000 equations.  And so, just for example,

  sifting back through the way in which

  industrial natural gas demand was being

  modeled as a share of total consumption, it

  takes a while to work back through the model

  and figure out where that came from, how that

  was assembled from all the different

  constituent pieces of natural gas demand.  So

  that's the close of -- my questions to you

  are the close of what I had to say.

            MR. NEERCHAL:  Steve.  Steve and

  Cutler?

            MR. BROWN:  Steven Brown.  I have a

  little bit of confusion and so some of the

  stuff that I say may be wrong, you may have

  to correct me, but it seems to me that the

  add factors are intended to correct for a

  variety of issues including the exogenous

  variables being unknown or revised, and for

  omitted variables in the model.  And it seems

  that you've really tested for the latter but

  not the first and therefore you may be kind

  of under- recognizing the contribution of

  individual staff members.  There ought to be

  a test for out of sample with and without the

  add factors because the add factors are

  really designed to compensate for a variety

  of problems.

            The other thing that I couldn't

  quite tell from the presentation, are whether

  these models are evaluated in levels or

  changes.  I would be skeptical of evaluations

  in levels because a person who's a weather

  forecaster can simply do a good job by saying

  the weather is going to be the same as it was

  yesterday, and we're not really interested in

  that.  We were interested in knowing when

  it's going to change from what it was

  yesterday.

            There is a literature that I'm

  vaguely familiar with about the use of

  preliminary data and that might be worth

  looking at, data that's going to be revised.

            And the other thing I sort of have

  is, is there something about this question

  that's too aimed at what the model is

  actually now as opposed to what it could be?

  In other words, we're not really looking at,

  are there other specifications that might be

  helpful?  For instance, I know that a

  relatively small natural gas company uses a

  finer decomposition of the right-hand side

  variables, like industrial production, they

  use finer decompositions of that in order to

  forecast natural gas consumption, because

  there are certain sectors that they recognize

  consume a lot more natural gas.  So in some

  sense, I'm wondering, is there a -- are we

  missing the boat in some sense, of evaluating

  the model as it is, as opposed to what things

  could be done to make a finer specification,

  and one last comment is is that some of the

  equations and some of the representations of

  equations, kind of remind me of things I

  learned in graduate school about 30 years ago

  and if I submitted something like that to a

  journal right now, I'd get thrown out as

  being out of date.  So I was a little bit

  concerned about that.

            MR. NEERCHAL:  Do you want to

  comment now?

            MR. CLEVELAND:  Why don't we have

  him respond, because I have a question about

  the levels versus rates (off mike) too.

            MR. LIDDERDALE:  I'm Tank

  Lidderdale.  I'm the leader of the short-term

  energy outlook team, so if you don't mind if

  --

            MR. LADY:  No, go ahead.

            MR. LIDDERDALE:  -- I try to take

  care of some of these.  There's a lot of

  issues in there.

            As far as levels versus first

  differences, the equations Andy dealt with

  were equations on levels.  We do have a lot

  of first difference equations, particularly

  the non-stationary price series are generally

  -- we're looking at spreads or first

  differences.

            You know, the whole objective of

  this exercise -- one of the things we found

  very beneficial was the model validation

  issue.  What kind of errors are we looking at

  with or without add factors, with or without

  actual right-hand side variables?  And having

  seen some of the earlier results, we actually

  did make quite a few changes.

            Our whole effort the last year has

  been to improve and simplify the model.

  We've gone from 4,000 equations down to 2,000

  equations, but for example, on the

  residential natural gas consumption, we had

  been using the count of number of households

  from the quadrennial REC survey.  We're now

  using the count of number of households from

  the annual Census Bureau American Community

  Survey.

            And having seen the results, we

  generally re-estimate all the equations and

  it's helped us -- given us a priority on what

  equations to look at and given that, the next

  step is to say, well, you know, given we have

  these are our priorities, how in fact can

  these equations be improved?

            Your point about industrial natural

  gas in the industrial production index is

  quite on the mark that our industrial

  production index is an aggregate we create

  from the finer index values.  For example, we

  have to eliminate the pills -- the

  pharmaceutical index from the industrial

  production index.  So we actually created

  industrial gas weighted production index.

            So, we see number one value of this

  kind of effort is model validation, for us

  establishing priorities of what to look at.

            There were a bunch of other points

  in there and I can't remember them all.

            MR. BROWN:  Well, my first question

  was whether the add factors don't correct for

  a variety of issues and that the tests are

  actually kind of biased again giving the

  staff credit for coming up with the add

  factors.

            MR. LIDDERDALE:  That's a good

  question.  The add factors do in fact come

  from a lot of reasons.  What's happening now

  has never happened before, whether you're

  talking new regulations, the economy, or

  anything or just, we're looking at all the

  individual forecasts and just using our own

  judgment whether that forecast makes sense

  just from our own gut feeling.

            MR. BROWN:  Right, but you're doing

  it without the benefit of the exogenous

  variables.

            MR. BUCK:  Right.  And my blue line

  in the graphs is out of sample with the add

  factor.

            MR. BROWN:  Okay.

            MR. BUCK:  Out of sample with the

  add factor. The green line is out of sample

  with the exogenous variable but no add

  factor.  And then the red is with the

  exogenous -- the actual exogenous data and

  the add factor.

            MR. LIDDERDALE:  One of the

  benefits of Andy's work is he's made us

  actually think about these add factors more.

  We've been collecting a database of all our

  forecasts when we switched to Eviews back in

  2003.  We've been maintaining a single

  database of all of our past forecasts so that

  we can hopefully implement an automated

  procedure of calculating forecast errors, and

  we've also included in that database our past

  add factors.  So it's easy enough, at some

  point with the right programming, to

  calculate a forecast error for any past

  forecast, for your six-month out forecast,

  for a series of forecasts, calculate that

  forecast error with or without the add factor

  to see, have we actually been improving the

  forecast, not knowing the actual right-hand

  side variables or making it worse given how

  the market evolved.

            One of the problems is, how do we

  incorporate the next step in correcting for

  the exogenous variables?  The weather.  The

  big problem in October was weather, that it

  was essentially half the heating degree days

  that was forecast.

            MR. BROWN:  Whose heating degree

  day forecast do you use?

            MR. LIDDERDALE:  NOAA's.  They have

  14- month out forecast.

            MR. BROWN:  I know, but there's a

  variety of private ones that even if they're

  wrong on average more than NOAA, tend to

  drive the market, particularly tend to drive

  natural gas prices.  And so those may be

  worth looking at.

            MR. LIDDERDALE:  That's an

  interesting suggestion.

            MR. NEERCHAL:  Cutler?

            MR. CLEVELAND:  Steven actually

  asked several of the questions that I had in

  mind.  One question that came to mind in the

  discussion is, why is the number of

  equations, the complexity you have, simply

  due to your need to model this regionally?  I

  mean, that seems like an enormous number of

  equations.

            MR. LIDDERDALE:  Yes.  Essentially

  going to a natural gas electricity nine

  regions for three or four different sectors,

  all of the sudden you're up over 100 or so

  equations.  You know, we're doing regional

  forecasts for propane, heating oil, motor

  gasoline, you're looking at regional

  forecasts for not only finished gasoline

  inventories but gasoline (off mike)

  components, so yeah, a large part was driven

  by our move to a regional model.

            MR. CLEVELAND:  So another question

  I had was on the specifications of these

  models.  We have this sort of potpourri of

  dependent variables and I'm just wondering

  why you're not just estimating -- this may be

  a naive question because I don't know the

  details of the model -- you're obviously

  calculating these -- estimating these

  left-hand side quantities and multiplying

  them by some other or dividing them by some

  other quantity derived somewhere off the

  model to get actual quantity demanded.  What

  determines -- so you have natural gas

  consumption for household, the log of a

  share, unscaled quantities -- I mean, it just

  seems to the outsider as being pretty ad hoc.

            MR. LIDDERDALE:  Well, I'm not sure

  -- ad hoc -- any equation for an outsider is

  going to look ad hoc.  But you're right.

  These equations that I wasn't involved on the

  natural gas side, addressing issues, whether

  it's log transformed or as a share, par to

  address issues of nonstationerity -- that it

  is an eclectic mix for each particular fuel,

  that each sector was approached essentially

  differently so that we originally were doing

  industrial gas consumption, forecasting the

  individual regions and we found that our

  forecast for those individual regions weren't

  particularly good for industrial gas

  consumption, and consequently, we were not

  getting a good aggregate industrial gas

  consumption.  We ended up deciding that it

  was more important to get the aggregate right

  than the individual regions, and that's why,

  for industrial gas, in particular, we

  forecast total industrial consumption and

  share out the regions.  And consequently,

  given shares we do find some big sector

  problems such as the Pacific region but

  industrial natural gas has been a very

  strange animal where industrial production

  had been rising over the last five years and

  industrial gas consumption, up until last

  year, had been falling.  So we did have to

  treat that separately and through a little

  analyst intervention about what's going on.

            So yes, the sectors do look very

  different and they, even to me, would look

  sort of an ad hoc approach.  And again, given

  the sort of validation approach gives us --

  helps us establish priorities on what to do

  further development work on.

            MR. CLEVELAND:  The question was

  raised about, you know, of all these

  different graphs and scenarios, which to

  pick, to choose on.  The temptation would be

  to use some kind of numerical -- if you're

  more than a certain percentage away, focus on

  those.  But I would argue that you really

  want to rely on expert judgment here on which

  of these sectors are most important.

            MR. LIDDERDALE:  Yes.

            MR. CLEVELAND:  And focus on those,

  even if you might have greater errors in some

  of the smaller, less important regions or

  fuels or so on.

            MR. LIDDERDALE:  Well, this whole

  effort goes not simply beyond model

  validation internally, it goes to our

  customers.  As Senator Feinstein asked, as

  you know, I got a letter earlier this year

  saying, on this date, you forecast this and

  it ended up this, then you forecast this --

  it's become very apparent to us that we need

  to let our customers know what has been the

  accuracy of our past forecasts so they can

  provide some judgment.  And as I say, that's

  our number one priority in the coming year

  for us is how do we present our forecast

  errors so that it's useful not only

  internally but potentially externally to our

  customers.

            MR. BROWN:  That actually goes back

  to a comment that I made about levels versus

  changes, is if you are -- let's say you're

  right every day except for one day, and that

  one day natural gas consumption somehow, for

  some strange reason, is completely different.

  Isn't that the one day that you want to have

  a model that kind of captures what's

  changing?  I mean, that's, in some sense,

  that if you sort of validate the model and

  its ability to forecast the levels of

  consumption, as opposed to changes in

  consumption, you're actually kind of

  overstating the value of the model in

  explaining anything.

            MR. CLEVELAND:  I'm done.

            MR. KOKKELENBERG:  Building on

  that, what percent error would be -- Ed

  Kokkelenberg.  What percent error would be

  acceptable?  And I guess it gets back to this

  whole question of validation.  Well, what

  does the competition do in terms of its

  forecast error?  I don't know who the

  competition is.  I don't have answers to

  these questions.  To me, you're saying, well

  how can we track down the source of errors

  and you've got this good, bad, and ugly

  classification -- many of your errors are

  under 2 percent.  And in a lot of cases,

  either the 2 percent is a quite acceptable

  band of error.  These 10 percent errors, I

  can see where you would have some concern.

  But errors that are under 2 percent -- maybe

  it's 1 percent you want to have confidence

  level, and that gets back to what Cutler was

  saying, you could probably use some

  computerized method to at least isolation

  those that have errors outside of certain

  ranges and then use judgment on those to go

  forward, but are you looking for.0001 percent

  error?

            MR. LIDDERDALE:  Well, on the

  short-term forecast, 2 percent error is still

  a large error.  If you're looking -- let's

  just say total petroleum consumption where

  you're talking 20 million barrels a day,

  you're talking 400,000 barrels a day.  That's

  a huge error.  So the best error is 0

  percent.  You really do have to look at the

  error that it provides some guidance for

  prioritizing.  It's not the absolute

  guidance.  You have to decide, you know,

  you've got a large error here, but so what,

  it's -- we're going to have a large error in

  non-commercial coal stocks, or something,

  commercial sector coal stocks.  You know,

  they're small.  We're not going to worry

  about it and we're going to take care of

  natural gas.

            MR. KOKKELENBERG:  Well, I would

  suggest, if you can define the level of error

  you would be comfortable with, and it may

  vary by --

            MR. LIDDERDALE:  Yes.

            MR. KOKKELENBERG:  -- by fuel or

  region, that  might help you identify where

  you should put your resources.

            MR. LIDDERDALE:  True.  Yes.

            MR. NEERCHAL:  Tom?

            MR. RUTHERFORD:  Yes, as long as

  we're -- sort of what's a little ad hoc work

  among friends?  As long as we're thinking

  along the ad hoc lines, I've been just

  sitting here thinking, my first reaction,

  4,000 equations -- ho hum, this is not very

  big.  I mean, because you can optimize over

  50,000 equations, right?  So this is not --

  if you have a linear model, you can optimize

  over a million equations, so relative to

  what's computationally feasible, this is not

  really big.

            MR. LIDDERDALE:  Yes.

            MR. RUTHERFORD:  And so this leads

  me to think about your basic problem is this

  analysis of variance, like what's causing the

  error, right?  So if you think about the

  model, again, not to speak in mathematics,

  but if you think about the model as Y is

  equal to F of X, so X is your exogenous

  inputs, Y is your forecast.  So just

  everything else, just reduced form.  You have

  a vector of outputs Y, you have a vector of

  inputs X, the question is, which of the X's

  is causing the problem.  The first question I

  would ask is, how close could you have

  gotten?  What's the best set of inputs you

  could have made to the model?  And that's

  minimizing some norm of Y minus Y bar, what's

  realized what's subject to X being a feasible

  set of input assumptions.  So that's

  something you can do -- and that's a

  computationally feasible problem you could do

  is to say, what's the best set of ad factors

  and exogenous inputs we could have made

  subject -- how close could we have gotten,

  and then once you know what the best point

  is, then you can use a -- there are various

  techniques for how to attribute the burden,

  but then you would then be able to say, for

  each forecast, what was the most -- how do we

  apportion the errors to the inputs and that

  would give you a metric for where you should

  be focusing your attention on the

  aggregation.

            So I'm just submitting that as just

  -- again, it's a little bit -- I'm not a

  econometrician, so I don't know whether or

  not the model specified in levels or values,

  what we're differencing, what techniques we

  use, I don't know anything about that.  But

  if you're thinking about it just as a --

  strictly as a black box with a set of inputs

  and a set of outputs, it seems like it would

  be interesting to know for every forecast,

  once ex post you're assessing it, what's the

  best we could have done.  What was the cause?

  Which of the factors gave rise to the error

  that was most responsible --

            MR. LIDDERDALE:  Well, that's an

  interesting point that we didn't get into is

  if we're -- you know, our overall concern as

  we're looking at total natural gas

  consumption, you know, looking at the error

  in total natural gas consumption, and seeing

  what sector is driving that error, whether

  there are offsetting errors, is an issue we

  haven't gotten into.  You know, we've just

  been looking at the sector consumptions, we

  haven't been looking at the forecast or

  total.  Which is sort of a different

  perspective too.

            MR. NEERCHAL:  Could I ask my

  question?  Once you -- suppose we have a best

  method of identifying the worst graph, and

  what do you do after that?  And the changes,

  are you making some changes the way you're

  doing the forecasting?  And is that change

  permanent, it's going to stay there?

            I just want to know, what do you do

  after you come up with the -- you know,

  identify the worst, bad graph, or -- what

  happens at that point?

            MR. LIDDERDALE:  You know, it's

  easy to prioritize what you have to look at.

  It's changing the regression equations, as I

  said.  We overhauled our residential

  consumption equations.  Look for better

  right-hand side variables.  Perhaps the next

  one is weather.  That's been recommended to

  us before.  For example, on propane, it's not

  simply taking a regional weather, propane is

  used out in the country where weather is very

  different from the population weather.  It's

  expensive to try to do that, but it's

  certainly -- you know, you saw recognizing

  the other options, restructuring equation.

            To me our model is a dynamic model.

  It's always going to change.  You can never

  be satisfied with what you've got.  There's

  going to be new ideas you have to try.  So

  we're continually revising, re-estimating,

  and even revising our equations.

            What we're really looking for are

  procedures methods that we can do that as low

  cost as possible, identifying where our

  problems are, at minimal cost is the real

  issue to us.

            MR. NEERCHAL:  Cutler?

            MR. CLEVELAND:  My question about

  the number of equations was not a

  computational one, it was really from an

  econometric perspective, that you know, just

  the fact that you have the number of

  equations -- I've looked at a lot of

  different sub modules of NEMS and it always

  appeared to me that you can really simplify

  things enormously and probably get the same

  accuracy of results.  So that was my

  question.

            But the regional breakdown adds to

  the complexity -- but it seems to me that

  this larger issue, we've talked about the

  last couple days, about accuracy, you really

  -- in the letter of response to the senators,

  and in the discussion we had yesterday after

  in our closed session, you've made repeated

  assertions that your models have done better

  than others and without really showing us.

  And it would be -- I'm not convinced you

  really know that.  Let me just finish -- and

  so I think -- we've talked -- this speaks to

  the issue I raised earlier of systematizing

  this idea of model validation and I think

  it's really something that you need to get a

  handle on and deal with because with energy

  even more important than ever, volatility the

  way it is, it's going to make a lot of

  forecasts wrong, but draw a spotlight on the

  forecast, you need a way of presenting to the

  public, to your broad -- all your different

  constituencies, here's how accurate our

  models work, however you're going to define

  it, here's a general language for (off mike)

  validation, and here is how we're doing

  relative to the other folks, and who those

  other folks are.  I mean, we know who --

  there's a short list of other models you

  should be comparing yourself to. It would be

  very useful to know how well you are doing.

            You're kind of skirting around and

  it does expose you.  There's risk in doing

  that, but it seems to me that you can't keep

  avoiding this lingering issue.

            MR. GRUENSPECHT:  It's my

  understanding that we can't even publish any

  other model results.

            MR. LIDDERDALE:  The comparisons --

  I maintain a comparison of our forecast error

  to PIRA, Global Insight, the NIMIX futures

  price on the day we publish --

            MR. CLEVELAND:  So why can't you

  publish --

            MR. GRUENSPECHT:  Because PIRA is a

  subscription service.

            MR. CLEVELAND:  There's other shops

  out there consulting firms who you could work

  with and academic models that forecast this

  stuff.  It's not just the for profit or the

  proprietary stuff.

            MR. RUTHERFORD:  You could publish

  at least the errors.

            MR. LIDDERDALE:  Absolutely, and

  that's I think --

            MR. CLEVELAND:  You can't claim

  that your models are better without showing

  us this information.  I mean, that really

  struck me from the letter.

            MR. LIDDERDALE:  We showed that --

  I actually showed that in presentations as

  versus consultant A and consultant B.  And

  that's what we're using.  We have internally

  documented those comparisons and can show it

  --

            MR. GRUENSPECHT:  We can present it

  to this group at some point, I mean, but we

  have done these consultant A, consultant B

  kind of a thing (off mike).

            MR. LIDDERDALE:  But I think it's

  very important that our problem is, these are

  proprietary subscription service that we

  can't publish those, but we haven't made the

  effort to identify those public forecasts and

  it's hard to think.  There aren't that many

  that we could compare to, and then it becomes

  sort of mean when we start comparing

  ourselves to them publically.

            MR. CLEVELAND:  There's ways to do

  it.  All I'm saying is that it seems to me to

  be unfair to say, we're doing better than

  everyone else, and not show us the data,

  especially since it's not clear to us that

  you're really doing the type of validation --

  you know, we're not -- it's -- you could do

  yourself a service by becoming a little more

  transparent at how you're generating these

  claims.

            MR. LIDDERDALE:  I think for us to

  report our past forecast error -- we provide

  links to every forecast we publish back to

  1983 and there are people who go back trying

  to figure out how wrong we were, there's a

  lot of people.  Transparency, I think, is

  important for us to start making it easier,

  cheaper for our customers to get that

  information.

            MR. NEERCHAL:  Ed?

            MR. KOKKELENBERG:  Just one quick

  thing.  If there are proprietary or public

  forecasts out there that are doing

  consistently better than you, I'd buy that.

  I'd subscribe to it and look at it when

  you're making your forecast.  Now, I suspect

  that they're not consistently better, but,

  therefore, a consensus forecast from them

  might help essentially fine tune your

  forecast because if they're pointing up and

  you're pointing down, you now have to ask the

  question, are these -- why are these so

  different?

            Anyway, I agree with Cutler.  If

  they're out there, you should probably be

  looking at them.  Maybe you are looking at

  them, and it would sustain your argument if

  you have been looking at them and you are

  indeed doing better.

            MR. LIDDERDALE:  When we do our

  price forecast, we are in fact comparing our

  forecast to 10, 15 other forecasts.  To give

  you an example right now, the fourth quarter,

  2009, WTI price forecast range from $52 to

  $110.

            MR. CLEVELAND:  It would be useful

  for the next meeting that we have if we could

  see some of that information.

            MR. LIDDERDALE:  Sure.

            MR. GRUENSPECHT:  We could

  certainly do it in this meeting.

            MR. BROWN:  A couple of comments.

  Steve Brown.  One of them following up on

  Ed's comment is that I think there is some

  analysis that is shows that consensus

  forecast, meaning an average of forecasts

  drawn from a variety of groups, tends to

  outperform even the best forecaster.  So that

  saying you've done better than every other

  forecaster is a little bit not quite what you

  want to say.  What you want to actually do is

  say that you're better than the consensus.

  That would really be something.

            MR. LIDDERDALE:  That would.

            MR. BROWN:  It may not be true.

            MR. LIDDERDALE:  I wouldn't put my

  money on it.

            MR. BROWN:  And it could be true.

  The other thing is, is that I can't tell from

  the discussion here whether your equations

  are estimated as a system of 2000 equations

  or whether they were estimated one at a time.

            MR. LIDDERDALE:  Estimated one at a

  -- generally, estimated one at a time.  We've

  got a couple of very small systems.

            MR. NEERCHAL:  I think we had a

  couple of questions about George's

  presentation, so you can bring it up now.  We

  have -- Ed, you had --

            MS. BROWN:  It was so long ago he

  forgot.

            MR. BLAIR:  No, I do, but I don't

  think anybody -- Ed Blair.  I don't think

  anybody'd be able to follow it.  The impact

  analysis that you presented to us, George, we

  were talking about NEMS, NEMS, NEMS, but the

  equation, the QT equal A times price T plus B

  times driver T plus C times quantity T --

  basically, when you were showing us the

  impact table.

            I understood the Q to be the actual

  Q for 2006, the 4-4-9-9.

            MR. LADY:  You're looking at the

  impact table?

            MR. BLAIR:  Yes.

            MR. LADY:  Yes, that's actual.

            MR. BLAIR:  Okay, and basically it

  looked to me then that because of the

  inclusion of the lag term, that really at the

  end of the day what we're predicting is how

  the quantity changed, 2006 versus 2005.  And

  then we're saying that if you plug in the

  coefficients obtained from NEMS, we can

  explain some portion of that.  But it seemed

  to me that this is not really addressing

  NEMS, per se.

            MR. LADY:  Well, the coefficients

  come entirely from NEMS.

            MR. BLAIR:  Yes, I'm with you, but

  we're not at -- the dependent variable is not

  -- and I appreciate that you don't want to

  say error -- the dependent variable is not

  the difference measure, is it?

            MR. LADY:  No.

            MR. BLAIR:  Right, so we're not

  explaining the difference, we're just

  explaining the actual quantity that was

  obtained.  And what we derived from here, if

  I read it correctly, is that ball park, about

  half the change in quantity, 206 versus 205,

  can be explained by price, weather -- but it

  doesn't speak, as far as I can tell, to the

  accuracy of NEMS, per se.

            MR. LADY:  Well, let me say this,

  subject to the error of the approximation, it

  is my belief that these results tell you what

  NEMS would have said if you had put in the

  actual weather and the actual price and the

  actual households, and I agree that the lag

  endogenous variable is bundling up other

  things, which is why I took the language I

  did and had those explicit variables called

  explicit, and in this particular case,

  explaining more than 10 percent of the

  difference.  I think that's about NEMS.

            MR. GRUENSPECHT:  Sure, I mean, a

  lot happened between 1998 and 2006 and if,

  let's say, temperature was -- let's say

  prices were higher, for whatever reason

  people bought more set back thermostats over

  all those years or people installed different

  furnaces or upgraded their homes, then in

  fact just picking up the explicit price in

  2006 and heating degree days of 2006 wouldn't

  pick up those cumulative changes in the

  building stock or in the behavior of

  consumers over 1999, 2000, 2001, 2002, 2003,

  2004, 2005 -- I mean, it seems like you do

  need some kind of way of picking that up in

  your analysis, and I assume that's what the

  lag term is for.

            MR. LADY:  I agree.  So to be, just

  to say it, part of what was done was dictated

  by the scope of what could be done given the

  time and effort that were available, and the

  weather and major economic variables are the

  traditional sensitivities that were

  investigated, and I absolutely agree that the

  lag endogenous variable is hiding -- I don't

  think in a bad way, but there's a lot of

  stuff that could be explicitly confronted

  that is not here.  I agree with that.

            This is an illustration of where

  this methodology should be taken and it's

  limited by what I could do as a practical

  matter.

            MR. BLAIR:  Well, I certainly don't

  mean to intend any criticism.  I'm probably

  wrong.  I'm often wrong.  And I think in the

  interest of time, the thing to do is go

  offline with it.  I'm having trouble really

  articulating what I mean, but I'm sure my

  betters in the room can correct me or improve

  my articulation, but it seems to me that the

  minute you put that actual lag quantity in

  there that effectively what you're doing is

  predicting the difference in quantity 2006

  versus 2005 --

            MR. FEDER:  It's not 2006, it's

  1998, I think, isn't it?  The lag is compared

  2006 to 1998, right? Oh, that's past year?

            MR. LADY:  The lag Q would be 2005.

            MR. FEDER:  Oh, yeah, you're right.

            MR. LADY:  In terms of action.

            MR. FEDER:  So the right mostly

  represents what we call the inertia, right,

  assuming that things were the same, and so

  the model, I guess, is intended to show how

  it would depart from that.  From, if things

  were cruise control, nothing else changes,

  and if Z were 1, if the coefficient were 1,

  we'd get exactly the same.

            MR. BLAIR:  I totally get that

  Moshe, and it seems to me that essentially

  what we're seeing here is, yes, in predicting

  year on year differences, you know, using

  NEMS, that it turns out that a big reason why

  2006 was different from 2005, is the weather.

  But it doesn't seem to me to speak to NEMS,

  per se, and the accuracy of NEMS, per se, but

  anyway, I think that's a longer discussion.

            MR. FEDER:  Yes, I think I

  understand your point.

            MR. CLEVELAND:  I think it just --

  you know, the proverbial problem of -- I look

  at that model and it causes me concern too

  because, you know, you're a big chunk, you've

  got a high R- squared because of that lag

  term, and the lag term is half of the

  unexplained difference, and it's a bucket for

  lots of things that we would like to measure

  explicitly.  If you imagine it from a

  forecasting perspective, if you could

  actually do those, then you'd have a better

  model.

            But there's data and time -- lots

  of very practical constraints and so we're in

  this uneasy space of, as an econometrician,

  being uneasy with that lag term being so

  important but realizing that, you know, this

  is the world that we live in.

            MR. BROWN:  What is the coefficient

  on the lag term?

            MR. FEDER:  What is it?

            MR. BROWN:  Yes.

            MR. FEDER:  Constant C.

            MR. BLAIR:  Point 6.

            MR. LADY:  Point 6.

            MR. BROWN:  That's pretty high.

            MR. LADY:  I don't think, first of

  all, that this is a criticism where I

  disagree with anything.  I think that, for

  what was done, we probably have a good

  indication of what NEMS would have said if

  we'd put in the right price and the right

  weather and the right driver.

            As to what the other half of the

  difference that's accumulated by the lag

  represents, I think that's a perfectly clear,

  open question, and the specification that was

  done here was done to have a specification at

  all that we could manipulate in any way,

  there just was not a way to do any more

  detail for this demonstration.  But I don't

  object to the idea that a different

  specification would be quite proper.

            MR. BLAIR:  Right, I hear you.  And

  I'm sure I'm missing something here, but my

  point is that the dependent variable is not

  what actually occurred versus what NEMS

  predicted.  There's no -- unless I'm missing

  something, there's no such -- that difference

  is not appearing in the depending variable,

  so we're not explaining -- we're not saying,

  had NEMS had the proper inputs, it would have

  predicted more accurately, we're just saying

  that the quantity changed, 2006 versus 2005,

  and using NEMS parameters, it turns out that

  mostly that was because of the weather.

            But that doesn't tell us whether

  NEMS would have done better.

            MR. HILL:  What's the N in this?

  The number of -- the seven or eight years?

  Is that the N?

            MR. LADY:  For the regression?

            MR. HILL:  Yes.

            MR. LADY:  The regression data were

  pooled for nine different solutions which had

  all possible combinations of high-low base

  value for price and the driver.

            MR. NEERCHAL:  It's not just

  yearly.  You know, lots of forecasts pull

  together.

            MR. LADY:  So it's six years and

  nine solutions --

            MR. BLAIR:  Fifty-four.

            MR. LADY:  Fifty-four.

            MR. FEDER:  I hope that I am not

  saying something totally -- that shows total

  ignorance, but I think what Ed is looking for

  is more like forecast error which this is

  not.  When he wanted to see how NEMS

  predictions match up against what's been

  observed later on, and that's not what this

  equation is doing because it has the lag

  inside.

            MR. LADY:  No, the equation is not

  attempting to do that at all.  What it's

  trying to do is to provide something that

  stands for having NEMS around 15 years from

  now.

            MR. FEDER:  And the question would

  be of value to look also at actions versus

  predictions analysis per se.

            MR. LADY:  Sure.

            MR. NEERCHAL:  I think we will

  break.

                 (Recess)

            MR. GRUENSPECHT:  Can we wait just

  a minute?  Moshe wasn't here at the beginning

  yesterday, so the presentation will be --

            MR. FEDER:  And that was the first

  time in six years that I was not there.

            MR. GRUENSPECHT:  -- it was not

  possible at that time.  Actually, they put

  these in much nicer cases than they used to

  be.  They used to have plastic.  So they must

  really like you guys a lot.  But I like you

  guys a lot.  You two especially.  I mean,

  I've had a lot of fun with you and dinners --

            MR. FEDER:  It's good.  I'll be a

  lot quieter.

            MR. GRUENSPECHT:  Hopefully they'll

  get loud replacements, but in any event, I

  think the department and I, and I know Guy,

  if he were here, would want to thank you for

  -- I guess most of your service was in the

  Guy regime --

            MR. FEDER:  Yes.

            MR. GRUENSPECHT:  And so, we are

  going to miss you a lot.  I'm sure you're

  colleagues will miss you a lot.  I want to

  make sure that you have this in case you have

  an uneven bed or something in your house, you

  can put this under the leg, then it will

  serve a good purpose.

            MR. FEDER:  Thank you.

            MR. GRUENSPECHT:  Mr. Chairman,

  you, too, I guess, are on your way out, and I

  also -- the same remarks except even more

  because you've had more responsibility --

            MR. FEDER:  It's wrong.

            MR. KOKKELENBERG:  It's wrong?

            MR. FEDER:  I don't have a Ph.D.  I

  have DSE.

            MR. KOKKELENBERG:  Now you have a

  degree.

                 (Laughter)

            MR. GRUENSPECHT:  You have a Ph.D.?

            MR. NEERCHAL:  I do.

            MR. GRUENSPECHT:  Thank you, sir.

                 (Applause)

            MR. GRUENSPECHT:  Now enjoy your

  bagels.

                 (Recess)

            MR. NEERCHAL:  Okay.  We have our

  next presenter, Vlad.  And we have our

  discussant ready, so we're going to start.

            MR. DORJETS:  Great.  Thank you.

  Thank you for giving me the opportunity to

  speak to you.  I've been spending the better

  part of the last eight months working on this

  project which involved building a database,

  validating the numbers by comparing it to

  industry published statistics, documenting

  everything, generating initial reports, but

  this presentation is going to focus on a very

  narrow piece of that, which is actually the

  process of building the database and the

  challenges I ran into, and I look forward to

  getting your comments on that.  Hopefully,

  maybe at a later meeting I'll be able to

  present the reports and the findings, but I

  didn't want to put the cart before the horse.

            All right, so let me start by

  explaining the rational for this project.  As

  many of you know, most of the -- well, half

  of the electricity in this country is

  generated by coal.  Of that, most is moved by

  rail and over the last several years there's

  been a lot of talk at Congress, at the

  Service Transportation Board, which regulates

  rail movements, about whether or not the rail

  industry has been unfairly increasing prices

  for their consumers.  And this is an issue

  because the rail industry operates

  effectively as a monopoly because they have

  an antitrust exemption.  There are bills on

  the hill right now considering revoking that

  exemption and there are two railroads west of

  the Mississippi, two east of the Mississippi,

  that can charge whatever prices they want.

  There's lots of anecdotal evidence where

  consumers are screaming that their prices are

  getting raised at unfair rates.  The

  railroads are returning saying they're just

  passing through costs.  Nobody's been able to

  look at this and been able to figure out

  exactly what's been happening to rates

  because the data has been guarded secretly --

  very highly by the railroads.  So we have

  basically obtained the data that shows the

  actual revenues the railroads have obtained

  for each individual movement for the last

  seven years of all energy commodities.  My

  work has focused mainly on coal, but we have

  -- it's called the Waybill sample.  It's

  managed by the Service Transportation Board

  and we have obtained this database, and so my

  challenge has been taking this data and

  converting it into a useful database that EIA

  could then use to generate reports, maybe put

  out a query-able database, write white

  papers, and also validate some of our own

  survey numbers.

            So this is the -- the way that the

  Waybill works is that every single railroad,

  every single large railroad, Class I, is

  required to submit an electronic Waybill

  which basically provides all the

  characteristics of a movement and it's a

  sample, let me start with that, based on the

  size of the train, so in the case of coal,

  coal usually moves in large 100-plus-car

  trains.  They're required to submit a sample

  -- every other movement, they have to submit.

  These are then collected and then analyzed.

            Because it's a sample, there is an

  expansion factor that's associated with the

  Waybill that's based on the size of the

  shipment.  In the case of the large trains,

  the number is two, so in order to get an

  approximation of the population, you're

  supposed to multiply those shipments by two,

  now you have, in theory, a population.

            It's actually -- the railroads --

  it's a voluntary obligation that the

  railroads do this.  They're not required by

  any statute to do this, it's just their own

  trade association has agreed to provide this

  service so they can analyze the numbers

  themselves.  These numbers are also used by

  the STB for regulatory proceedings, for rate

  cases, but they are highly confidential.  In

  order for us to get it, we had to agree to a

  whole slew of confidentiality conditions,

  aggregation conditions.  The way in which

  we're going to aggregate this data to be able

  to publicly present it, is a whole separate

  issue that we still have to try to figure out

  because there's some concern about just how

  we're going to be able to -- how you present

  numbers in a situation where there's only two

  players in the industry on either side when

  you're trying to safeguard that one player

  can figure out the other guy's prices.  So

  there has to be a certain height at which we

  aggregate it where that is possible.

            And then ultimately, like I

  mentioned, the goal of the project is to

  validate our own survey numbers, present some

  white papers, having an internal database

  which is not subject to any aggregation

  parameters, and then a public use file which

  is restricted to the conditions that we've

  agreed to.  So let me jump to that.

            Okay, so the database itself --

  we've received 400,000 observations from 2000

  to 2006.  We've actually dropped the year

  2000 because the sample, through some

  analysis, we found it was smaller and it

  wasn't as reliable as the other years.  We

  then performed a whole series of manipulation

  to the data.  We retained just the coal

  shipments.  And in the end what we have is

  about roughly 200,000 observations and around

  800 variables for the years 2001 through

  2006.

            And the way we've done this is,

  we've taken the Waybill data that we've

  received, we've incorporated a number of

  other inputs, such as price deflator -- so we

  can actually obtain real revenues -- we've

  included all sorts of EIA terms, definitions

  of basins, supply regions, demand regions, so

  we can actually compare apples to apples to

  our own forecast and actually make region

  specific models.  We've also undergone a very

  extensive process of mapping the stations to

  the actual user because the Waybill sample is

  actually a station database and if we're

  going to have any use out of it, we need to

  know who is actually receiving that coal on

  the other end.

            So there's been a process of trying

  to map the station to the actual power plant

  or to the coalmine so that ultimately we can

  actually show reports for shipments from

  coalmine to power plants.

            And that was a whole separate

  process involving a lot of manual work, some

  assumptions that we're going to have to set

  out.

            Then there's also something called

  Rule 11 movements which we had to deal with

  which is -- railroads have basically two

  different ways that they can invoice their

  customers.  In most cases, especially for

  shipments let's say going from the west coast

  to the east coast, since there are two

  railroads in the west and two in the east, at

  some point, the shipment has to basically

  change hands from one carrier to the other.

  The question is how this gets billed.  You

  can be billed as a through rate where the

  terminating carrier will submit a single

  invoice, and then they will take care of

  paying the other railroads that have handled

  the movement, or it can be done according to

  what's called Rule 11 of their accounting

  codes which means they submit separate

  invoices for each of their own segments and

  then the customer pays -- basically cuts

  several checks.  The problem is, because

  these are separate invoices, they're also

  sampled separately.  So we run into the issue

  where, in some cases we're lucky enough to

  receive both ends of the sample, then there

  was a process by which I was able to merge

  the two to create a single comprehensive

  Waybill, but in other cases, there's only one

  end or the other end, which we call basically

  Rule 11 orphans, and you have no way of

  knowing -- basically what it shows  is

  there's a shipment that originates in a coal

  region in Wyoming, it will show that it's

  terminating in Chicago which is a major

  terminate -- a major junction station, and

  you have no way of knowing where that coal

  then ends up, or vice versa, you'll have

  shipments originating in St. Louis and

  terminating in a power plant, and you have no

  way of knowing where that coal's coming from.

  So that's a separate issue we have to deal

  with.

            So the way that the sample is

  conducted is, it only captures the Class I,

  the large railroads, which means in some

  cases there are short lined railroads that

  will pick up a shipment at a major station

  and will drive it down the little roads

  closer to the actual end user.  Those are not

  sampled.  They're very small railroads.  So

  there are some observations that are lost

  based on the fact that it terminates at just

  where the tracks for the Class I railroad

  terminates.  It is sampled on a quarterly

  basis, and this is where the problem comes

  in.  The railroads are simply asked to

  submit, in the case of coal shipments, every

  other shipment, on a quarterly basis, with no

  specification for distribution around the

  country or what commodity is sampled, or also

  for a single receiver or shipper.  Which

  means, in theory, there is nothing stopping

  them from sampling -- providing in their

  sample, all the shipments going to a single

  receiver at a single state provided that it

  represents half of the movements they carried

  in that one quarter.

            So we run into an issue of saying,

  well, how well does this actually represent

  what's happening, and we have conducted a

  whole series of validation exercises to

  basically take the numbers and compare them

  to various annual reports, our own survey

  data, industry publications, and surprisingly

  -- well maybe not surprisingly -- the data

  was actually quite accurate.  I don't want to

  get into all the conclusions right now here,

  but it actually was -- we found that in most

  cases, the numbers were within 10 percent, in

  some cases even closer than that, to what the

  numbers we know to be the case.  Whether this

  is coincidence or whether the railroads

  actually take it upon themselves to go beyond

  the letter of the law, we don't know, but the

  numbers actually were quite good, especially

  at the higher aggregated levels.  We found,

  for example, that in specific cases, a single

  railroad's numbers may be off from what that

  railroad published, but when you aggregate

  all of the railroads for specific movement,

  it actually was very accurate.  Similarly for

  shipments to a specific power plant, we found

  that in cases where the number of

  observations was pretty small as you would

  expect and there was greater error, but once

  you got into the larger power plants, they

  were providing a lot more samples because

  they, in these cases, will receive a shipment

  of coal every day, then the numbers were

  actually within a couple of percentage points

  of what we know to be the case.

            So given all this, I've, I guess

  three methodological challenges that we had

  to deal with that I was hoping to get your

  opinions on.  The first is how well we can

  actually use this database to represent coal

  movements because the samples themselves do

  not specify the railroads have to submit

  information for coal shipments in particular.

  They just have to submit shipments for all of

  their movements in a particular quarter.  It

  so happens that we actually have very good

  representation of coal movements but this is

  also because there are so many of them and

  the majority of the traffic that railroads

  will do are coal movements.  So whereas they

  don't have to do it, we in fact get a lot of

  them sampled, and while they don't have to

  distribute them across the states, it turns

  out that we actually do have a good ample of

  that and when you look at the numbers, it

  actually is a very good representation even

  though they weren't required to do some of

  these things.

            So how well can we take a

  subsample, basically, of just coal movements

  and use that to approximate what's happening

  in industry for a population when the actual

  specifications did not require that?

            A second question is, ultimately

  we're going to want to look at rates.  That's

  what this whole project comes down to.  What

  has been happening to rates of revenue per

  ton, revenue per ton mile, for specific legs

  going from Wyoming to Texas, Wyoming to

  Georgia, Appalachia to Texas, whatnot, which

  means we're going to be calculating averages.

  Now what happens is, in some cases you're

  going to have a large power plant receive a

  daily shipment that they've contracted out

  for the year which means you're going to have

  an identical observation repeated 30, 40, 50

  times and in other cases, you have unique

  observations.

            Now for the purpose of calculating

  an average, are we allowed to actually take

  -- treat those as individual observations

  because they're going to distort the weight,

  or should we treat them as a single

  observation when you have, in one case, a

  hundred repeating identical observations and

  then two, three, four cases of others?

  That's a challenge we ran into.

            And then the third one is these

  Rule 11 movements which is when we were lucky

  enough to find in many cases both legs that

  we were able to merge, but there are still

  these orphans which means we're losing

  observations. And since the sample was

  supposed to -- basically, there's a 50

  percent chance of the Waybill sample

  capturing a single movement, and then there

  is -- when you think about the chance that --

  there's a 50 percent chance of getting one,

  and then the other, there's only a 25 percent

  chance of getting both.  What I would like to

  do is to basically expand the expansion

  factor for those merged observations to take

  in account the fact that we're losing the

  orphans on either end, and this is basically

  the project, and then once I -- based on

  this, we're going to hope to come up with all

  sorts of products.

            Thank you very much.

            MR. BINGHAM:  So, this is Derek

  Bingham.  So I mentioned to Vlad offline that

  when I looked at his slides that my general

  answer was, I don't know.  So he's got some

  problems here and it's pretty preliminary and

  to say exactly what the solutions are, I

  can't say.

            I'll take a stab at a couple of

  things that we can point to.  I'll try to

  point to a few questions that I have.

            Regarding the Rule 11 sort of

  situation, so it's -- so, correct me if I'm

  wrong.  So when you're able to do this

  reconciliation, you're able to follow some

  shipments manually, you know, by putting

  these together and then there are these

  orphans, right?  And I guess my question

  would be, suppose that you only looked at

  destinations, or you only looked at point of

  origin Waybills.  Now it's true, so your

  inflation factor is going to change, but you

  would end up with some consistency in terms

  of what you're sampling.  So is part of the

  risk -- so this is a question for you because

  I don't know the answer -- is part of the

  risk double counting really?  You know,

  something takes off from a coalmine and then

  ends up at a power plant and you can't

  identify when you have the receiver Waybill,

  you can't really match it up with a sender

  Waybill if you would.

            MR. DORJETS:  I think if I

  understand your question, it would depend on

  what type of output we'd want to get out of

  the data because in some cases we would want

  to look at specific flows from origin to

  destination in which case -- if we did a

  query, because all this work is done in

  SAS -- if I did a query that showed origin is

  Wyoming, destination is Georgia, without the

  "Rule 11"s it would show that there are no

  observations because it's not capturing --

  it's showing all the observations originating

  in Wyoming, terminating in a port, at a

  junction, and vice versa, originating in a

  junction.  So in order to actually capture

  all the movements going from Wyoming to

  Georgia, I would have to inflate the

  expansion factor so that the ones that we

  were able to merge represents the population,

  but if the product is different, if it's a

  matrix of, let's say, receipts, or receipts

  at a destination or shipments at an origin

  that we're trying to matrix -- show, from

  what state, let's say, from what state, the

  state of Georgia received all the shipments,

  then we'll be able to show all of the states

  from which we know they got it and then we'd

  have to put in the unknown value which means

  we'd have to include in that all shipments

  that originated out of what we've been

  calling a junction, which we'd have to

  manually identify as a junction, and any

  shipment that originates in a junction and

  terminates at the state of Georgia, we would

  put into the unknown bucket.  So when we

  aggregate all the shipments terminating in

  Georgia, the number would be accurate, but

  we'd only be able to map a certain percentage

  of them to actual points of origin as opposed

  to a junction.

            MR. BINGHAM:  Right, but the --

  okay, so I'm trying to match the goals of

  what the database is meaning to do and if

  it's rail cost (off mike) so if you know the

  cost of coal and you're a receiver, then you

  say, well, okay, this is what I pay for coal,

  this is what I pay for transportation, and

  that's what that guy is going to be

  complaining about, is that I'm getting gouged

  because I paid this much for coal, look what

  I paid for rail, right?  And so the place of

  origin is kind of irrelevant to that

  individual and so I'm just trying to wrap my

  head around this problem here.  I'm just

  saying, is the sample of receiver waybills --

  is that indicative of the cost of

  transportation?  And would that -- so rather

  than trying to spend the time reconciling

  these things and following the entire route

  of the coal, if the goal is to figure out,

  well, is somebody getting gouged here, well

  the receiver is going to be the guy who's

  getting gouged and he knows what he paid for

  the coal, he knows what he paid for the rail,

  and if the rail bill is way high, then that's

  going to be the sample you want anyway.

  Matching them from start to finish may not

  be.  Am I wrong in that?

            MR. DORJETS:  I'm not sure if --

  no, I mean, the receipts would show the

  transportation cost.  The question is where

  it's coming from.  If it's representing the

  entire movement or only a segment of it.

            MR. BINGHAM:  Okay, so it's the

  secondary question of who's responsible for

  this.  Because it seems to me, like I have

  this complaint about rail costs, I'm paying

  too much for transportation and so that's all

  I care about.  I don't care where it

  happened.  If I'm the receiver, I just care

  about what I'm forced to pay.  And that

  aggregate -- that's the aggregated cost, if

  you will, of getting it from A to B, and I'm

  in B and this is what I have to pay.  I don't

  care of the last one-third of the trip is the

  cost.

            MR. DORJETS:  But it think the

  question is, how much you're paying in

  relation to your competitors in that state.

  So the trick would be to come up with an

  average number -- you know your own costs,

  but you don't know anybody else's.  So if we

  could publish the rates for Wyoming to a

  state and show what the average rate is, then

  the question is, is that average

  representative -- is the sample large enough

  to actually show that average so that the

  individual can then compare his cost to that.

            MR. BINGHAM:  So I guess my

  question boils down to, (off mike) is the

  receiver waybill providing information as to

  whether the rates are -- I mean, whether the

  receiver waybills are providing information

  to the movement of rates, and also giving

  indications whether they're paying too much,

  and you're saying no.

            MR. DORJETS:  What do you mean,

  whether they're paying too much?

            MR. BINGHAM:  Well, so that's part

  of the goal, right?  So you gave a preamble

  about -- you know, that people who are --

  that the people were feeling that the

  railroad shouldn't be able to maintain their

  antitrust exemption because they're just

  gouging -- that would be the reason, right?

            MR. DORJETS:  Right, right.

            MR. BINGHAM:  That they're just

  putting the screws to people, right?  And if

  the reason is -- and so I mean, I guess, this

  is what you're telling me, so if that was the

  case, just to say -- I'm paying -- the reason

  I'm going to complain is I'm paying too much.

  I don't care where it came from, all I know

  is that my transportation bill --

            MR. DORJETS:  Right.  So the

  question is, how do you know that you paid

  too much?  And that's going to be a different

  exercise to compare the changes in the costs

  from one period to another to some sort of an

  index that we could use, where they'll look

  in real terms and see what's happening.

            And in the abstract, a single

  waybill is not -- we're not going to be able

  to use that to come to any conclusions, just

  a cost.  But our exercise is going to be,

  maybe, in one of our white papers to say,

  here's how much in real terms the various

  consumers have seen their prices going up and

  to show that if you're a plant, for example,

  that has -- that is lucky enough to have

  multiple train tracks coming in, which means

  you can choose between the terminating

  carriers, as opposed to one that only has a

  single train track, to show that as contracts

  get renewed, those that are competitive have

  seen their prices increase by a lower margin

  than those that are captive, or to show that

  for certain segments, their rates have

  increased more than others, and if we can

  show why certain market factors have

  increased those prices for those legs, then

  we can show it's because of some sort of rent

  that the railroads are capturing, maybe we

  can come to that conclusion.

            MR. BINGHAM:  Okay, so you want a

  much finer thing than I think I took from the

  original goal.  I'm going to move on just in

  the interest of time.  Your third challenge?

  I think you wrote?  It's just a question

  about treating these things as single

  observations and multiple observations.  Can

  you explain that again, please?

            MR. DORJETS:  This is just

  something that in talking to other colleagues

  that has come up as an issue that we would

  have to deal with and that's why -- since I'm

  not a statistician, I figure that maybe

  somebody here would be able to offer some

  insight on this, which is if there is 100 --

  if the state of Georgia is receiving 100

  observations in a particular month, and 70 of

  them are the exact same revenue from the same

  origin to destination pair, and 30 of them

  are maybe grouped in batches of four or five

  to smaller plants -- so there's a single

  player that's getting 70 -- every single

  one's identical, and then there's four or

  five getting little batches here and there.

            If we're trying to come up with an

  average rate to the state of Georgia, can we

  just average -- do a weighted average for all

  100 observations and treat all those 70 as 70

  unique observations when they're identical?

  Or is there some other -- methodologically is

  there another way we should treat them to not

  distort the value and maybe treat them --

  what somebody's recommended to me is treating

  them as a single observation.  So instead of

  having 100, you'd basically have 70 be one,

  and then the others, something like that.

            MR. BINGHAM:  The reason you

  wouldn't want to think about it like this --

  suppose everybody at this table earns $50,000

  a year and Raj and Stephanie earn a million.

  So the reality is, it's the variance is

  actually quite small relative to who you

  treat (off mike) there aren't three salaries

  at this table, there's a whole bunch of them.

  There's many, that just happen to be equal,

  and two people are hogging all the dough down

  at the end and so the variance should be

  weighted backwards because it's actually

  fairly uniform except for the two people.  So

  maybe I'm wrong.  I don't know how everybody

  else feels about this, but I would say that

  (off mike) observation.

            MR. BLAIR:  Yes, it's a real live

  observation.

            MR. FEDER:  The question is, first

  of all, what is the population (off mike)

  that are interested in, had we the full

  information, a census -- and I know all about

  the multi-leg trips and how they are

  constructed.  If my parameter is the average

  cost per ton, regardless of the volume and

  how many multiple times a user is getting it,

  then I would put in all those replicates.  If

  not, I wouldn't.  The (off mike) data should

  have a multiplicity parameter as one of the

  SAS variables, and the user would decide what

  kind of estimates they want.  There's no

  impression that you (off mike) and you can

  derive different means depending on (off

  mike).  So it's the same question people have

  about family income versus personal income.

  If you want to average personal income, then

  you add up all the individual incomes, and so

  on, if you don't -- I think you get my drift.

  So my answer to this would be depending on

  what the population parameter is that you

  want.

            MR. BINGHAM:  Yeah, it seems like

  (off mike).

            MR. FEDER:  Well, if I'm a minor

  player and I know that I cannot get the rate

  that those that get multiple shipments is, I

  may be interested in a (off mike)

  multiplicities dropped.  If I'm an economist

  and I want to know and I say that (off mike)

  then I would use the other.  So it depends on

  the purpose and why do you want to know that

  information.

            If there's no question about the

  estimation, (off mike) it's just a question

  of what I want to get out of it.  So I would

  say the information should contain it and

  there are just simply two different

  parameters that we want.

            But can I just address the orphans

  issue.  I think the answer to your question

  is yes.  I mean -- this is what in sampling

  is called the two stage sampling.  The first

  stage is the actual (off mike) from this.

  The orphans get smaller probability of

  selection because of that, so you multiply it

  by the reverse (off mike) that's exactly what

  you had.  So I agree with your approach.

            MR. NEERCHAL:  I think we have John

  first and then Cutler.

            MR. WEYANT:  Let me not answer any

  of your questions, unfortunately, because I'm

  not qualified to do so, but I had one

  background question and one suggestion for a

  group of people to talk to.

            I actually don't understand exactly

  how the industry has been able to make this

  data secret.  If you remember 20 years ago,

  the interstate commerce commission gave

  deregulated railroads so it seemed like that

  was moving from a regulated system to a

  competitive system of sorts.  And we know for

  competitive markets -- first of all, you need

  more participants, but the argument that was

  made as I remember it was, there are other

  modes of transportation that competed, and so

  on, which may be true for everything except

  for coal, it sounds like. And I actually

  wonder, this is kind of somebody else's job,

  but if -- and maybe this is how you got the

  data in the first place that you did get, is

  that somebody could put some pressure on the

  companies to be more transparent about the

  data under the threat of reregulation unless

  they've been reregulated since I last looked

  at this.

            So that's just one general

  question.  The suggestion is there is a group

  of people who are involved in that, one I can

  think of that I had as an econ professor year

  ago was Darius Gaskins, who was the chairman

  of the Interstate Commerce Commission and

  (off mike) to (off mike).  So I think he

  knows this industry pretty well and I think

  (off mike) to invest in it, there's a group

  of younger guys that worked with him at that

  point.  He actually did a course project for

  me which got some data on transport and tried

  to fit -- tried to figure out whether a

  competitive or oligopolic market fit and I'm

  not saying that would be a useful thing to do

  either, but he may -- that group of people

  may have some insight.  You may have already

  come across in your work a group of these

  kinds of people, but they might give you --

  he's one of the sharpest people I know, also

  a high school classmate of George Lady as we

  talked about this morning -- in terms of what

  to look for and where to get information that

  nobody else knows about, things like that,

  and how to put things together.  So I just

  think that group of people might be

  interesting to consult.

            MR. DORJETS:  I just want to

  address -- thank you for the recommendation

  actually -- to address your first point.

  There's actually a very complicated method by

  which they -- depending on the commodity, the

  competing source of transportation, also

  there's a calculation that's done based on

  the revenue competitiveness of the shipments,

  and they come up with an index to see how

  your railroad and how your shipments compete

  with others, all of which I don't understand

  very well, but the conclusion in the end is

  that these shipments are not regulated and

  because they're not, the railroads basically

  submit these waybills to a statistical body

  which is a subsidiary of STB which collects

  them, and because they're proprietary

  corporate rate information, they don't

  disclose them because they don't want

  competitors to see what they're charging and

  it's just the STB that collects this data and

  does not -- they disclose a subset of it on

  their website with no rate terms, no -- it's

  not even at a state level, it's at a large

  level than that.  And otherwise, nobody gets

  it.  We had to -- it was very difficult to

  get this.  We actually -- even though they

  actually say on their website, and I don't

  want to speculate why this was the case, that

  any federal agency has the right to request

  and receive this data, they were not very

  forthcoming with it.

            MR. WEYANT:  Yes, one word of

  warning.  I know, from the people who went

  through the deregulatory sector, there were

  some heavy handed tactics used to resist

  this, we're related to (off mike).

            MR. NEERCHAL:  Tom, do you have

  something quick?

            MR. RUTHERFORD:  Yes, it's just an

  observation.  We had this discussion

  yesterday about how long until the full data

  and so forth.  They're finding evidence that

  there's no strategic reporting even though

  they have an option to do that in print.

            As soon as you write your white

  paper that assesses the manipulation and full

  charge, you can almost guaranty that

  strategic responses will be forthcoming

  thereafter.

            MR. WEYANT:  That's a good point.

            MR. NEERCHAL:  Steve?

            MR. BROWN:  Yes.  Something that I

  either missed or need clarified.  Let's say

  there's a coal shipment that's going from

  Wyoming to Georgia and it's going to change

  railroads in either St. Louis or Chicago --

  when I'm looking at the receiving waybill in

  Atlanta, do I see the mine mouth price of

  coal in all the transportation or do I see

  just the Chicago price of coal?

            MR. DORJETS:  You see the cost --

  the only cost you will see is the amount you

  paid to ship the coal from Chicago to your

  plant.

            MR. BROWN:  And I will see a price

  of coal?

            MR. DORJETS:  No.

            MR. BROWN:  Okay, so that's a

  separate thing.

            MR. DORJETS:  That's a separate

  thing.  That is negotiated separately.  So

  it's just the actual transportation cost.

            MR. NEERCHAL:  Ed?

            MR. KOKKELENBERG:  Did Congress ask

  EIA to look into this?  I mean, you're

  talking about widespread concern about rising

  rail costs, but this isn't the Department of

  Transportation, so why is EIA looking at

  this?

            MR. DORJETS:  Because they're not,

  to put it bluntly.  I mean, they're not --

            MR. KOKKELENBERG:  You saw a the

  football lying on the field and you decided

  to pick it up and use it?

            MR. DORJETS:  Yes, we saw this as

  an opportunity to basically come up with some

  interesting analysis and to also validate our

  own survey results which are capturing this

  on the -- because we survey the power plants

  and in the new survey when we ask them how

  much they pay for transportation, we want to

  know are they being -- are they responding

  the same way that they're responding on these

  waybills.

            MR. KOKKELENBERG:  Well, from the

  EIA's point of view, you should be able to

  just back calculate how much coal that they

  get because you know how much power they

  generate, and you know where it's coming

  from.  The coal for that major plant down in

  Georgia is coming in in at least one 110-car

  train a day and it's all coming out of

  Wyoming.  You know the BTU content, and you

  know what they're generating in power because

  they fill out all those little FERC forms, so

  you should be able to back calculate how much

  coal they're using.

            MR. DORJETS:  Absolutely.

            MR. KOKKELENBERG:  And so you can

  compare that to the waybills and you can say,

  well, all right, I've got these orphans and I

  can then fill those things in, but even if

  you find that they're paying more per ton

  mile for coal to Georgia than, let's say,

  somebody in Chicago is paying for it, since

  this is a private sector and they're not

  regulated, discriminatory pricing is

  perfectly legal.  So where are you?  And the

  only essentially alternative Georgia has is

  to build its own railway because it's not on

  the water, so they're stuck with whatever the

  rail lines charge them.

            MR. DORJETS:  I think that's --

            MR. KOKKELENBERG:  Wait a minute.

  One final point.  They located that plant

  there because their markets were there, and

  so when looking at the overall cost of

  energy, they figure that they are going to be

  having to pay rail costs of some sort.

            MR. DORJETS:  I think to answer

  your question it depends on how much -- and

  it's not going to be our decision to make,

  but it's just laying out the facts to show

  how much power congress wants the railroads

  to have because what happens right now is if

  they have a contract -- typically right now

  they assign annual contracts to move a

  commodity and over the course of that year,

  let's say the demand for that product

  increases -- whoever the consumer is, they

  increase their rates, and they're making a

  lot more money of the product.  The railroads

  are very smart.  When that contract gets

  renewed, they're going to figure out how much

  extra money they're making off selling that

  product and just capture every single penny

  of it --

            MR. KOKKELENBERG:  Sure.

            MR. DORJETS:  -- because they can,

  because what's your alternative?  Maybe if

  you can switch to truck, okay, but in the

  case of things like coal --

            MR. KOKKELENBERG:  Not with that

  size coal load.

            MR. DORJETS:  You can't.  So they

  basically will capture every single penny of

  rent and typically that was done annually, so

  at least you had the benefit of at best a

  year to capture that higher cost, but now

  with the way the industry's moving is they're

  renegotiating their contracts monthly.  So

  they are really trying to capture every

  penny, so that's why the consumers are

  complaining saying that this isn't fair and

  it shouldn't go on like this.  So that's not

  going to be our judgment to make, but at

  least we can lay out how -- what happens to

  rates because we can find out when the

  contracts got renegotiated and to show what's

  been happening as each contract-- for one

  type of consumer versus another and let

  somebody else decide what to do with that

  information.

            MR. KOKKELENBERG:  Although one

  side comment, if I were the southern company,

  I would just buy stock in the railroad.

            MR. DORJETS:  That's what Buffet's

  doing.

            MR. WEYANT:  So to go back to these

  questions, I -- to what extent is this driven

  by the responsibility EIA has to provide

  accurate data and build good models as

  opposed to regulating the railroads which is

  what Ed and I kind of got into.  I mean,

  those are related, but then you have these

  requests.  There is kind of a jurisdictional

  thing but the DOT could come to you guys and

  say, we have really good data.  It raises the

  quantity of coal that we could regulate.

  What's up with that?

            MR. DORJETS:  I mean, from our

  standpoint, we're just looking to see what's

  happened to the cost of coal that is getting

  moved to power plants.  That is the way we

  approached it, and if by extension of that we

  received all coal movements going to all

  types of plants, then we may want to look at

  that too, but really we set out, what's

  happening to the cost of coal going to power

  plants.

            MR. WEYANT:  Yes, and that

  obviously is historical data that EIA has and

  should be the expert --

            MR. DORJETS:  But we've never

  specified mode of transportation.

            MR. WEYANT:  You haven't done that.

  Okay.

            MR. DORJETS:  So that's the gap

  that this goes in.  We have the --

            MR. WEYANT:  But prospectively, if

  you're going to build a little module that

  says how are people going to decide on power

  plants, it would be good to narrow it.

            MR. DORJETS:  Exactly.  We have

  delivered cost of coal, but if the plant gets

  more than one mode of transportation, there

  was no way to break out the railroad.

            MR. WEYANT:  Oh, that's right.

            MR. CLEVELAND:  Plus there's also a

  very interesting economic geography question

  in all this.  So you now have data on points

  of origin, trans- shipment points, and points

  of destination, so it's a database that could

  be used to answer a lot of interesting

  spatial questions.

            Are the power plants and

  trans-shipment points geo-referenced?

            MR. DORJETS:  In what sense?

            MR. CLEVELAND:  Latitude and

  longitude.

            MR. DORJETS:  Oh, not in an initial

  waybill, but one of the inputs that we've

  combined is that so we can apply (off mike).

            MR. CLEVELAND:  There's a lot of

  interesting information, the spatial

  information that you didn't have before.

            MR. DORJETS:  Absolutely, and

  especially for congestion, because that's

  going to be another issue that people are

  talking about, how much capacity is on the

  railroad to move ethanol or whatnot, and we

  actually -- in our request, we not only had

  coal, we also have all, what we define as

  energy commodities including biodiesel,

  ethanol, and all the various feed stocks to

  that, so we could look at that also.

            Thank you very much.

            MR. SITZER:  I'm Scott Sitzer and

  I'm an office director here at EIA and Vlad

  actually works in my area.  I just wanted to

  respond to the question about why EIA is

  doing this and one reason we're not doing it

  is to regulate rates or to provide any

  information that anybody asked us to do to

  regulate rates.  But two reasons that we are

  doing it is, in our latest strategic plan,

  one of the elements of that plan is that we

  want to increase somewhat, the discretionary

  analysis that we do in EIA and get back a

  little bit more to what we did many years ago

  when we first started to try to take some

  important topics and try provide information

  on them.

            For a long time, we've published

  data on coal transportation rates, but we've

  done it in a different way.  We use the FERC

  580, for example, which has become less and

  less relevant as utilities have been

  deregulated and spun off some of the

  information that they used to provide.  So

  Tom Schmidts, who's actually Vlad's

  supervisor and couldn't be here today, is

  pretty much an expert on this waybill data

  because he used to work with the Surface

  Transportation Board both as a consultant and

  I think as an employee, so we managed to

  obtain this data and I think it will be very

  useful for us to improve our provision of

  coal transportation rate data and also to

  help the models there particularly in NEMS to

  get data that's a little bit closer to the

  source compared to other information such as

  the FERC 423 and so on.  So those are the

  main reasons that we're doing this.

            MR. NEERCHAL:  Could I just ask you

  a question while you're here?  Because of the

  confidential -- highly confidential nature of

  this data, I'm assuming that this is totally

  for internal consumption, this particular

  project I mean.  You are not going to publish

  anything?

            MR. SITZER:  I think that we'll

  eventually be able to find aggregations that

  we can publish.  We won't be able to do the

  individual data, but I think there will be

  aggregations that we can compute that will

  pass muster in terms of the confidentiality

  issue.

            MR. NEERCHAL:  Thank you.  Howard?

            MR. BRADSHER-FREDERICK:  I'm sorry

  this is taking a little bit of time.

            MR. NEERCHAL:  That's all right.

            MR. BRADSHER-FREDERICK:  Okay.  My

  name is Howard Bradsher-Frederick.  I'm with

  SMG and EIA.  And I'm going to present the

  results of the 2008 EIA 30th Anniversary

  Energy Conference Survey that we did.  I

  think some of you attended this.  This was

  conducted last April.

            I want to thank my co-authors

  Philip Tseng, who's in the audience, and we

  also had a summer intern by the name of

  Michael Saltpeter, who did, in fact, most of

  the analysis on this.

            There was a disclaimer at the

  bottom essentially saying that I'm presenting

  my own opinion and not necessarily those of

  EIA.  I don't think there's anything too

  controversial here.

            Okay, an outline of the

  presentation.  First I'm going to talk about

  how we administer the survey, then the

  response rates, and the results, and finally

  the summary and conclusions.

            In terms of administering the

  survey, we used a web-based survey that was

  developed by EIA.  This means -- a web-based

  survey means that we sent e-mails to

  individuals that essentially directed them to

  a website that then they could fill out their

  answers to the questionnaire.  The survey

  questions are in an appendix at the end of

  the paper for the committee members to look

  at.

            MS. LENT:  Make sure it is

  complete.

            MR. BRADSHER-FREDERICK:  We

  obtained the e-mail addresses from the

  registration list of attendees and we sent

  e-mails to all the attendees including EIA

  staff members and to facilitate the

  administration of the survey we requested the

  respondent's e-mail addresses as an initial

  question.  This enabled us that only

  attendees could complete the survey.  Only

  one submission per e-mail address, and we

  need not bother persons who responded with

  non-response follow-ups.  However, in order

  to ensure confidentiality, we didn't store

  the e-mail addresses with the survey

  responses.

            First the response rates.  There

  were 1,550 registrants for the conference,

  1,150 actually attended.  Of that 1,150, we

  had 1,060 workable e-mail addresses and we

  had finally, 440 respondents to this survey,

  and this was a response rate of 41.5 percent.

  And this is considerably higher than some

  surveys that we ran in the past that were

  similar to this, but they were sent to the

  customers of our analytical products.  I

  think I presented on this before with

  analytical product survey.  So we think that

  this was doing pretty well.

            This is the response rate pattern

  over time.  We sent out the first mailing

  only two days following the end of the

  conference, and within two days of that

  mailing, we had more than half of all the

  responses we ultimately received.  And in the

  end, we achieved a response rate of 41.5

  percent with 440 respondents.

            One of the first questions was why

  respondents attended.  Respondents were asked

  why they were motivated to attend the

  conference.  They were offered 4 -- excuse

  me, 6 choices, and they could choose more

  than 1 response and the coverage of topics

  was the highest, was 76 percent.

            The overall conference ratings.

  Their overall rage shows that 87 percent

  responded to the conference was excellent or

  good.  Eighty percent said it was excellent

  or good in meeting their expectations.

  Eighty-seven percent in terms of topic

  relevance.  Seventy-nine percent in terms of

  presentation and visual quality.  And

  eighty-eight percent said the conference

  facilities were excellent or good.

            Again, we have high ratings

  regarding the plenary sessions.  The first

  line -- there were two plenary sessions and

  one was on the first day and one was on the

  second.  The first one Secretary Bodman spoke

  in addition to some other people and the

  second one, we had Congressman Dingell and

  Senator Bingaman spoke, and the first line is

  the topic relevance and how it was scored

  according to these criteria.  The second line

  was the presentation quality.  Again, the

  same for the second day plenary session.

            In the two sessions, the first

  session was rated as excellent or good by 83

  percent and 84 percent of respondents

  respectively in terms of presentation.

  Quality of the rating was 82 percent and 75

  percent respectively.  We think these were

  pretty high.

            The breakout sessions.  There were

  a substantial number of breakout sessions

  during the two days.  You can have a look at

  the scores here.  I used an ordinal scale

  here to sort of come up with an overall score

  for each of the sessions based on all five of

  the scores that were given.  And I

  highlighted the peak oil here because this

  was seemingly the highest, but also the

  growth and petroleum did fairly well.  You

  might see some correlation between the topic

  relevance and the presentation.

            In more breakout sessions, here we

  had new base load generation did fairly well.

  And you can again see the scores and the

  presentation scores, topic relevance scores.

            We also asked for open-ended

  comments and our summer intern categorize

  these to give us basically what some of the

  comments were and then a number of

  occurrences.  So we got a lot of praise.  We

  got the criticism that he handouts should

  have been made available to the public

  earlier than they actually were.  And even

  though it was a free conference, we still had

  27 people say that they should have been

  given some food or lunch or drink.

                 (Laughter) And we had some topic

                 specific comments

            And we had comments about problems

  with the speakers that some of them weren't

  as good as some people would have liked and

  maybe couldn't see things well enough and we

  also had some other lower ones here.

            MR. NEERCHAL:  Howard, is it like

  the first one number of e-mails that had some

  praise words?

            MR. BRADSHER-FREDERICK:  Yes.  We

  had 38 that said something that was

  essentially a praise.  Yes.

            MS. BROWN:  Praise.  Yes.

            MR. BRADSHER-FREDERICK:  And then

  we asked the question, again, it was open

  ended, suggestions for future topics.  And

  you see here that the way we classified these

  largely broke down into fuel types and with

  oil and renewable energy at the top with also

  energy market economics and international

  energy coverage and alternative energy and

  current energy issues.

            Summary and conclusions.  We think

  that the respondents evaluated the conference

  quite favorably.  The response rate was quite

  good.  The peak oil and new base load

  generation were the most popular topics.  Oil

  and renewable energy, suggested most often

  for future conferences.  And we should keep

  in mind that we should try to get the

  handouts available earlier.

            And the questions for the

  committee, even though I didn't really talk

  too much about the questions, you can, even

  without seeing them in your folders, you have

  some idea what the questions were based on

  what I just presented, but do you have any

  suggestions for improving a customer survey

  questionnaire, and for those of you who

  attended, do you have any suggest topics for

  future EIA conferences?

            MR. FEDER:  Just a quick question

  for topics or future conferences, you had

  both renewable and alternative, and I think

  between the two, they seem to be the most

  popular.

            MR. BRADSHER-FREDERICK:  Yes, I

  suppose if we classified them differently we

  might come up with different results.

            MR. FEDER:  Yes, and that's

  something that I would have anticipated

  (phonetic).

            MS. BROWN:  So we should separate

  those things out.

            MR. FEDER:  Separating them weakens

  them.  Divided we fall.

            MR. NEERCHAL:  John?

            MR. WEYANT:  Actually, please let

  Barbara go first.

            MS. FORSYTH:  Actually, I don't

  have much to say.  In terms of the methods I

  think it's a really nice demonstration of a

  sound methodology.  Not many people get to do

  just web based data collections and not many

  people who do just web based data collections

  get a 41 and 42 percent response rate.

            So I think you did a nice job

  keeping the questionnaire short and it's -- I

  think you're really unusual in the currency

  of your e-mail list, so I think that's a big

  reason why you did so well and I think it was

  worth the effort to get current e-mail.

            I'm not exactly sure what kinds of

  decisions, if any, you want to make based on

  the data or whether it's just a report out

  for descriptive purposes.  And I guess, since

  I wasn't really sure what you wanted to do

  with the data, I looked at them in more

  detail and I focused on the excellent ratings

  because on a scale, the people who feel

  excellent tend to feel really strongly.  And

  if you look at those excellent ratings you

  sometimes get a different picture than you do

  when you look at the people who say it's good

  enough which isn't necessarily what your good

  people are telling you, but it might be.  And

  so when I looked at those excellent ratings

  by topic, okay, so I'm looking at the

  proportion who rated excellent in terms of

  relevance and then the proportion who rated

  excellent in terms of presentation, and what

  was interesting to me is when you just pull

  out the excellents, the relevant skews high.

  It ranges from like 43 to 62 percent report

  excellent relevance.  And the quality tends

  to skew low.  It ranged from 18 percent to 49

  percent excellent.  And so, if you wanted to

  use this as actionable data, I think you do

  have an interesting result there that speaks

  to maybe how you inform your speakers or

  prepare your speakers, or alternatively,

  prepare your audience, so I do think there

  are some actionable data here.

            I looked a little bit like you did,

  Howard, at the correlation between relevance

  and presentation.  I, of course, did not do

  it formally.  I looked at the high relevance

  topics and asked, how are their presentations

  and it turns out, as you're suggesting here,

  that that the ones that were rated most

  relevant -- I took like the top third, I

  think, in relevance -- they tended to be the

  top third in presentation too, and they got

  lower rates of excellent ratings for their

  presentations than for their topics but at

  least the relevant topics were doing better

  than the irrelevant topics in terms of the

  quality of the presentation.  So I think

  that's actually kind of an interesting result

  and it's probably something you saw when you

  were looking at the correlations.

            MR. BRADSHER-FREDERICK:  Yes, I

  didn't computer the correlations either but

  it just looked obviously (off mike).

            MS. FORSYTH:  Yes, and so those are

  the few things that I observed and I focused

  on the data because I think -- I don't have

  much to say about the methods.  It's very

  nicely done.  You deserve at least a 42

  percent response rate.

            MR. HILL:  As my colleague to my

  right here says, (off mike) I agree with

  everything the first respondent said.  I do

  have a few comments.  The main comment I have

  to tell you is it looks like it's well done.

  The methodology is straight forward and the

  response rate is quite good.  I can certainly

  remember when you look at response rates, a

  week or two, for things to come back, and

  you're getting responses and (off mike)

  responses in two days.  So that looks good.

  (off mike) questions are done by e-mail now,

  (off mike) by surface mail, I think that's

  part of it.

            A general comment that there are

  not demographics in --

            MS. FORSYTH:  Oh, right.

            MR. HILL:  -- either in the

  questionnaire or in the write-up.

            MR. BRADSHER-FREDERICK:  Okay, so

  maybe we should ask a demographic question or

  something.

            MS. FORSYTH:  Like who they work

  for.

            MR. HILL:  (off mike) one of the

  tables and you presented here, so table six,

  the breakout session on relevance, you -- I

  noted that peak oil, the excellence for the

  peak oil demonstration or the presentation

  were quite high as was the case for the new

  base load generation.  I noted there were

  relatively low for trainings like the

  renewable portfolio standards.  Actually,

  (off mike) attendees for one of these -- (off

  mike) I thought the audience looked different

  in the potential (off mike) people in the oil

  industry that are different from people in

  the wind industry.

            MS. FORSYTH:  That's true.

            MR. HILL:  I don't know how you ask

  that though.  There might be some sort of

  demographic question like that.  Where do you

  work?  Those are obvious types of things, or

  the distance that you traveled, maybe many of

  the people are traveling over 100 miles, 100

  kilometers to come in.  Maybe that matters,

  maybe it doesn't.

            The types of questions we typically

  ask maybe probably don't matter -- age, sex,

  income, they probably don't matter.  They're

  probably a separate set of demographics that

  you'd have to think about that are relevant

  here.

            I didn't know the overall

  objective.  Since you're getting a fairly

  large number -- surprisingly large number of

  excellent or good responses, I don't know,

  maybe that's what you report to the senators

  when they ask you how you're doing.  I don't

  know whether or not you're looking for the

  subsequent conference to see whether or not

  there's some categories that are important to

  the attendees (off mike).  It wasn't -- the

  objective of the survey wasn't clear.

            MS. BROWN:  We're planning the

  second conference now so we are looking for

  feedback from you on things we might want to

  change in planning.

            MR. HILL:  On the question of

  confidentiality, do the respondents actually

  know that their e-mail will be placed in a

  separate category?  You may even be able to

  boost the responses if there are key people

  in there who said, I'd respond, but I don't

  really want my name attached to it.

            MS. BROWN:  Good point.

            MR. HILL:  There might be.  That's

  it.  Generally well done.

            MR. NEERCHAL:  We have John.

            MR. WEYANT:  In the interest of

  full disclosure, I was actually in one of the

  sessions and I guess what I'll come back to

  is just this demographic issue.  So I think

  it would be worth a little bit of effort

  thinking about what the audience is and is it

  just the maximum number of people and even if

  so, what kind of people -- so this is kind of

  Walter's demographics thing.  I think for us,

  it was actually me and Bill Hogan and Jim

  Sweeney -- I think Phillip and Howard and

  Andy were involved inviting us.  Our mission

  was -- we do a lot of Silicon Valley stuff

  and sometimes we get ratings that puzzle me.

  And I come back to, is the purpose to be

  entertaining or informative.  Let's put it

  that way.

            For (off mike) even different.  I

  don't want to (off mike) on ours because it

  was very specialized.  We viewed it as kind

  of talking to our friends in EIA and maybe

  the slightly broader modeling community, not

  the kind of consulting corporate people about

  kind of new horizons in energy modeling

  because we thought that was our objective.

  And actually in that praising EIA for all it

  has done as well.

            I would say a lot of people in the

  audience who just kind of wandered in who

  were industry people or consultants probably

  thought that was very technical.  They don't

  like modeling and possibly not even EIA, so I

  wouldn't expect to get very high ratings from

  those people just because of their particular

  demographic.  We did okay, but we didn't

  really do it to get good ratings in that

  sense.

            So my guess is, just in how we've

  come out of this, because we do have this

  Silicon Valley problem where we were kind of

  talking about the details of the latest

  technologies and how to do technology

  assessment on the one hand, and then get

  broader participation so you could look at it

  the other way, is to get the people who don't

  normally do our kind of stuff getting hooked

  in to learning more than they probably

  wanted.  You could think of those as two

  separate audiences, maybe, that kind of

  publicizing EIA and having something that a

  lot of buzz -- I know last year, because it

  was the anniversary, there was that.  And

  then have some other things that were more

  focused.

            For me, just wandering around

  because I happened to be there, I thought the

  EIA administrators thing was for me

  personally just incredibly cool and

  interesting, but I'm not sure that would be

  true of all these other constituencies.

            MS. FORSYTH:  It got the highest

  ratings.

            MR. WEYANT:  Yes, that was the one.

  So that doesn't surprise me one bit.  So I

  don't want to get into the ranking (off mike)

  but I just think those kind of dimensions are

  useful to think about.

            MR. CLEVELAND:  One question I did

  have was -- Cutler Cleveland.  You serve EIA

  folks too.  It seems like you want to pull

  those people out of the sample or at least do

  it separately because, you know, what

  fraction of the 400 were EIA folks?

            MS. BROWN:  We don't know that.

            MR. BRADSHER-FREDERICK:  In the

  future, we could ask a question that says,

  are you EIA?  In fact, we didn't know that

  when we administered the survey that we were

  going to have to strip off the e-mail

  addresses, otherwise we could have

  stratified.

            MR. CLEVELAND:  Yes, I think you

  need -- that would be important to do because

  those people either have an ax to grind and

  don't like their boss and will give you a

  poor, or have a self interest in giving it a

  high ranking.

            MR. BRADSHER-FREDERICK:  No, that's

  a good comment.

            MR. NEERCHAL:  You can probably

  mine the data.

            MS. BROWN:  Yes, we can ask a

  demographic question.

            MR. BRADSHER-FREDERICK:  Yes, we

  can ask a question, are you EIA.

            MR. FEDER:  I've been requested to

  repeat -- Moshe Feder -- I would put in

  demographics the sector on government,

  academic, industry, nonprofit, and

  specifically energy companies.

            MS. BROWN:  BLS has a question.

            MR. NEERCHAL:  EIA is supposed to

  be -- it would make sense to have a separate

  category for EIA or not.

            MR. FEDER:  Yes.

            MS. FORSYTH:  But I think, Howard,

  you could go back to your frame -- correct me

  if I'm wrong -- I'm sorry, go back to your

  list of e-mails if you still have it, and --

            MR. BRADSHER-FREDERICK:  We have

  the list but they're not associated -- yes,

  separated from the data.

            MS. FORSYTH:  I understand that.

  You could still look at the proportion of

  your 440 who are EIA or USG.

            MS. BROWN:  But we don't know that

  they necessarily use their EIA address.

            MS. FORSYTH:  That's right.  That's

  right.

            MS. BROWN:  They could have used

  something else.

            MR. BRADSHER-FREDERICK:  They had

  to use the EIA address -- they had to use the

  address that we sent otherwise they're not

  going to get a match.

            MR. FEDER:  My only concern is that

  they will be more reserved in their responses

  if they knew that they would be identified as

  EIA.

            MS. FORSYTH:  Right.  I'm just

  thinking --

            MR. FEDER:  That's why I thought

  "Government" would be a better category, and

  not say which branch of the government.

            MS. FORSYTH:  I'm thinking for

  interpreting these specific results, not for

  reporting.

            MR. FEDER:  You will lose (off

  mike).

            MS. FORSYTH:  Yes.  You're right.

            MR. TSENG:  Actually, I can answer

  the question about how many EIA employees

  attended the meeting.  Out of the 1,060 we

  had about 150 EIA employees that attended the

  meeting.

            MS. FORSYTH:  But we don't know how

  many of them responded to the survey.

            MR. TSENG:  Well, initially before

  we deleted all the information, it's about

  probably 30 or 40 percent of the EIA people

  responded to the questionnaire.

            MS. FORSYTH:  I have one more

  question.  I'm sorry.  I should have included

  this in my comments. But I also noticed, just

  this time going through it, I didn't pick up

  on it when I was reading the paper that you

  had like 1,500 registrants, right, and

  roughly 1,100 or 1,200 attendees, and from

  those you had like a little over 1,000

  e-mails.

            MR. BRADSHER-FREDERICK:  One

  thousand and sixty.

            MS. BROWN:  Valid e-mails.

            MS. FORSYTH:  Right, so you could

  only survey as many as 1,000, so the

  difference between like 1,600 and 1,000 is

  actually kind of noticeable, although the

  difference between 1,100 and 1,000 may not

  be.  And so you might want to wonder about

  what happened between the 1,559 and the 1,060

  and what you're --

            MR. FEDER:  It's handwritten,

  right?  The e-mail addresses?

            MS. BROWN:  Right.

            MS. FORSYTH:  I'm just thinking,

  there were a lot of people who registered and

  didn't come.

            MR. CLEVELAND:  That's pretty

  typical for a conference like that.

            MS. FORSYTH:  Right.  I'm just

  saying, what do we not know.

            MS. BROWN:  Two points.  One, the

  conference was free.  But I have a question.

  We deliberated a lot about whether to do an

  e-mail or a (off mike) survey or to do a

  paper survey.  You know, at a lot of

  conferences you go to, they hand you, like

  this one, an evaluation sheet that you fill

  out at the end.  So what we -- we debated

  about whether we would get a higher response

  rate by giving them the survey right then and

  there, would we get fair quality data because

  they just left the session, as opposed to,

  you know, that is the first time we hit them

  was two days after the survey.  How much did

  they remember about the sessions?  So what

  are your thoughts on that?

            MS. FORSYTH:  It's a question I

  should know the answer to.  I wish we could

  give you a better response.  And I don't,

  based on empirical data, I don't know the

  answer to that question although I'll bet

  someone does.  So I can give you some names

  of people who know the answer to that

  question.

            My intuition is probably not worth

  much.  My intuition is that you may get

  better data from the people who respond on

  the spot but more data through a web survey

  just because there's so many materials at the

  end of a conference that people are going

  through that it's a burden.  That's what I'm

  thinking.

            MS. BROWN:  So the quality is

  better on the spot, but the quantity would be

  better --

            MS. FORSYTH:  Right.  That's just

  my intuition.  There may be someone who knows

  the real answer.

            MR. NEERCHAL:  Combine the two and

  you (off mike).

            MS. FORSYTH:  Right.  In the

  session.

            MR. BROWN:  Yes, I just have one

  comment. (off mike) speakers there and as a

  consequence I was able to find lunch

  relatively easily, but I think for people who

  were just attending, I mean, Bill Hulkey and

  I went looking for something to drink at 2

  o'clock in the afternoon and every single

  snack bar in that facility was closed.  And

  so -- I think the nearest restaurant was like

  two or three blocks away, and there was no

  information about food.  I was taken care of

  because I was a speaker, but if I hadn't

  been, I would have (off mike) and so I don't

  think that you should provide food for a free

  conference, but there should be information

  about how to get food and there should be

  some coordination with the host facility so

  that they're prepared for 1,000 people who

  are going to be hungry at noon.

            MR. NEERCHAL:  Tom?

            MR. RUTHERFORD:  So, I don't know,

  are we to -- you know, the last section has

  to do with suggestions for the spring

  meeting.  So I don't know if we're moving

  into that.

            MR. NEERCHAL:  Well, I think if we

  are done -- are we done with the discussion

  on Howard so we can relieve (off mike)?

            MS. BROWN:  Thank you, Howard.

            MR. BRADSHER-FREDERICK:  Thank you

  very much.

            MR. NEERCHAL:  All right.

            MR. RUTHERFORD:  I have this crazy

  idea that I thought I'd just float.  This is

  completely, a little bit nuts, but maybe

  other people will think this is an

  interesting idea.

            I was thinking about the challenges

  that EIA faces with the short -- I'm thinking

  primarily about the short-term model because

  I have a proposal for how we might look into

  -- or EIA might think about how to improve

  that or to look at alternatives which would

  be to post -- you have these 16 different

  historical versions of the model on the day

  that it went in.  You could run a competition

  for Ph.D. students -- a forecasting

  competition -- where they would get access to

  the data that had been used for driving the

  STEO in the past and then you could, at the

  meeting, you could go through the data and

  have an overview to provide them with

  information about the framework and then you

  could collect -- the practical way to do

  this, I think, it would add an element of

  sort of excitement because it's sort of a

  little bit like gambling, you could give the

  award -- you could have a fairly good sized

  award, and have the award be on the

  performance over one year of running (off

  mike) so you announce the proposal at one

  year's conference.  The next year's

  conference, you award the thing.  And the

  basic idea here is that the institution has

  noble causes and it's well-founded, has a

  great history, but it doesn't sort of -- in

  terms of connections to the academic

  community, I think that's really where the --

  I think (off mike) could benefit from having

  a better connection to the academic community

  and having a competition like this would be

  along sort of the lines of the way these

  Force 4 sort of software project worked.  The

  reason that grads students do that is they

  like doing the stuff, and they also like to

  get the award.  Because I think that you have

  people competing, even if they didn't win the

  award -- if they came in second place, this

  would be a good thing to put on their resume,

  right?  So I think that you could actually

  leverage, compared to paying someone to go

  out and develop a model from scratch and make

  all these decisions, instead we say, okay, we

  just give the award to -- here's the metric

  by which we measure the performance over the

  year, everyone gets the same access to the

  data for training their model, and they can

  go out and collect their other data, but

  you're very clear about what data they get

  going in.  And then see how it goes.

            So that's just a proposal I had.

            MR. WEYANT:  I like that idea.

            MR. NEERCHAL:  And there is

  precedence for this. Netflix, I don't know

  how many of you are aware of the Netflix

  competition that was about a -- I think it

  just concluded about a year ago or a year and

  a half ago, and the prize money was a million

  dollars.

            MS. BROWN:  I don't think we can do

  that.

            MR. RUTHERFORD:  For this I don't

  think you need a million dollars.  I'm

  saying, the cost of developing a new

  short-term model with a consultant is -- I

  bet you could take that number and divide it

  by twenty and you'd get a range of different

  options, you'd get to assess performance, and

  like the comment that Steven made is the

  world is changing really fast.  I was at a

  conference about a month ago about

  nonparametric methods with this new package

  that runs under R.  These young guys are

  really good.  This stuff is really cool, very

  innovative, and us dinosaurs, we can't keep

  up with this stuff, so I think the thing is

  to -- but we do know how to evaluate the

  performance, right?  You can just run the

  model and see how it works.  And so think

  this would provide an opportunity for EIA to

  sort of broaden this table even if it didn't

  become the short-term replacement, it would

  be an alternative.

            MS. BROWN:  Yes.  I don't know what

  the rules and regulations are for the agency.

  I haven't been here long enough to know if

  there are any restrictions on doing this, but

  that's something certainly to consider.  We

  have our next energy conference coming up in

  April, right before the next (off mike) of

  the committee and we can (off mike) and

  announce then and have (off mike) available.

  (off mike) and I don't know what they are or

  if they are.  I wish Howard or Margo were

  here.

                 (off mike).

            MR. BROWN:  Well, you might be able

  to just get somebody to co-sponsor it if EIA

  can't do it or you could write a contract to

  one of the national laboratories and have

  them sponsor the contest.

            MR. NEERCHAL:  I mean, you can talk

  to ASA.

            MR. BROWN:  Yes.

            MS. BROWN:  I wonder if this would

  satisfy Senator Feinstein's issues too.

            MR. CLEVELAND:  It would also have

  other -- when we talked about the -- your

  turnover in staff here and new blood and

  increasing the invisibility and this would be

  a good way of connecting with the academic

  community and even just creating a buzz about

  what's happening amongst a community where

  you can harvest some good talent.

            MS. BROWN:  That's why I think (off

  mike) could just get the right to work here.

            MR. NEERCHAL:  I wanted to point

  out one thing.  I think -- I noticed that we

  changed the format a little bit compared to

  the last few meetings.  I think this worked

  really well, bringing the speakers back to

  the table here and have the discussion being

  somewhat of a going back and forth with

  questions and comments.

            MS. BROWN:  A dialogue.

            MR. NEERCHAL:  A dialogue.  I think

  this worked well.  And it actually affected

  the time considerably.  The next chair should

  probably keep track of it, but I think it

  seemed to me that really helped bringing them

  back to the table.

            MR. CLEVELAND:  I'd like to hear

  about nuclear power in terms of what, as the

  industry looks like we're going to be

  building more nuclear power plants, probably.

  I know that the two-year forecasts and stuff

  -- just to hear about how you guys are

  thinking about it, because I know in the last

  NEMS model, you're basically using Japanese

  data on the costs of new plants to forecast

  future -- you know, just to hear about what

  you guys are planning on doing or thinking

  about to address a possible resurgence in the

  role of nuclear power in the country would be

  interesting.

            MS. BROWN:  I know -- Renee, aren't

  we doing an IER on (off mike)?  Is that

  coming up next?

            MS. LENT:  That's in terms of what

  data should be (off mike).  Yes, what

  Stephanie is referring to is we're thinking

  in terms of what new data we would need to be

  collecting but it sounds like what you're

  addressing is how we're going to be

  forecasting.

            MR. CLEVELAND:  Yes.

            MS. BROWN:  Yes.

            MS. LENT:  Yes.

            MR. CLEVELAND:  It's been dormant

  for 30 years and it's now on the front

  burner, so just -- how does this affect EIA,

  what you do, and so on and so forth.

            MR. WEYANT:  The other thing is to

  think about -- is the cost of power plants,

  which seems to escalating up and down and

  back and forth -- all the power plants, but

  nuclear is the big one.  Nuclear.  Coal.

  Solar.  In doing the NEMS runs, you do

  capacity which is -- plants, it would be

  interesting to see how you do that.  Not

  easy.  I wouldn't want to do it.

            MR. KOKKELENBERG:  Well, what

  you're saying is if you can do some

  forecasting of the kilowatt hour capital

  cost.  If you're going to do that, comparing

  natural gas with coal and nukes, you're going

  to have to do a cash flow or take into

  account the interest payments because you've

  got such a long lag or lead time.

            MR. WEYANT:  Yes, that's a very

  good point.  I did a little spiel on this for

  an industry group and they said, well, this

  isn't actually the way we see it.  It all

  comes down to what we've got to pay for the

  capital and it looks like it's risky because

  it's nuclear or because it's wind or solar,

  that's what we're dealing with.  So it comes

  in different --

            MR. CLEVELAND:  Maybe sort of

  broaden the topic, not only be nuclear, but

  to include these issues because they do --

  they look at -- I was just actually looking

  at your electricity data and so it's

  levelized cost -- which is what they use.

  Levelized annual cost, capacity factor, and

  then some subjective probabilities on risk

  and other things that somehow get thrown in

  there.  So it would be interesting to look at

  how you go about forecasting power generation

  choices.

            MR. WEYANT:  Yes.  If I get asked

  this five times a week, you must get asked

  500 times a week.

            MR. CLEVELAND:  Yes.

            MR. WEYANT:  If not, you will soon.

            MR. KOKKELENBERG:  I think another

  item that you're going to want to include,

  particularly of power -- the Senate response.

  An update on that.

            There may be steps you take and how

  you're handling that because I think this is

  going to be an ongoing problem that you're --

  it connects back to model validation,

  comparison with others, and how the AEO is

  viewed versus how you intended it to be used.

  That combined issue needs to be addressed

  repetitively, I think, to try to hone a good

  answer.

            MR. CLEVELAND:  Yes, I think that's

  really important.  I have to say, I think the

  way you've been doing it is pretty lousy, I

  mean, in the sense that it seems very ad hoc.

  You know, you just pick some consultants to

  look at a couple of -- there's no kind of --

  John's idea about getting a group together

  that could help you think about how you want

  to approach model validation and how you

  systematize that into thinking about how you

  build models, because that thinking appears

  to be absent to me, and I think that is going

  to be increasingly important in volatile

  energy conditions and you're just not -- you

  don't quite seem to have your head around it,

  I think.

            MR. BROWN:  I've done that before.

  You just bump your leg into the (off mike).

            MR. CLEVELAND:  So anyway, thinking

  about that and maybe some group that could

  help you -- in a focused way, that seems to

  be -- because we keep hearing -- you know,

  I've now gone to these meetings for over

  several years where you have them looking at

  -- there doesn't seem to be any real systemic

  process.

            MR. FEDER:  Yes, one quick -- not

  only the model validation, but how all the

  models interact with each other.  The whole

  picture, the whole concept that we talked

  about quite a while ago about data (off mike)

  because they collect a lot of data on a lot

  of things.  How it all fits together.  The

  big picture.

            MR. WEYANT:  The other topic -- I

  would call this the Rutherford-Sweetnam

  proposal -- both for this group in probably

  different forums and the conference.  It

  would be good to do this -- Glen described it

  as kind of a peak oil debate with a good

  moderator.  This, A, would be useful, and

  that was peak oil was one of the highest

  ranked ones anyway, but if you could really

  just push it to the next level of depth.  By

  the way, you could always, either -- it

  depends on how this works out -- either in

  our group or in the public group, use that

  opportunity to explain what EIA actually does

  one more time.  Even though we're EIA and we

  don't do this, we have to make assumptions

  about oil, and we, as you, have many

  influences -- I guess, one link in EIA is you

  do kind of look at the consistency of the

  particular price projection with your supply

  and demand, so you're not completely off the

  hook, but it's not like you think of that as

  one of your main products and spend a lot of

  attention on that.  So it would be good to

  get a real clear message out there of what

  you do do and what you don't do.

            MR. NEERCHAL:  May I invite the

  public for any comments.  We don't have to

  stop the committee.

            Committee is also public.

            MR. MELENDEZ:  I have one.

            MR. NEERCHAL:  Speak to the

  microphone.

            MR. MELENDEZ:  Israel Melendez.  I

  noticed -- this is my first meeting here and

  I noticed a small trend and it happens,

  actually, in business a lot, especially in

  engineering where there are a lot of product

  developers and they have some great ideas.

  The problem is, is it marketable, will it

  sell.  And I've heard a couple presentations

  here where I think that you almost need to

  make sure that it's customer focused.  It's a

  brainstorming idea internally.  Someone

  thinks it's a good idea.  And it's almost

  like a hunt of like, let's find an

  application for them, to some degree.  And

  this is just a general comment.  I don't know

  if anyone agrees with me, but it might be

  worthwhile to think about, how do you bring

  some of these ideas to a broader audience or

  seek out customer inputs through focus groups

  or some other way, kind of like the same way

  industry does it.

            MR. NEERCHAL:  Steve?

            MR. BROWN:  I would just say that

  maybe from my own experience of working in

  energy for the last 25 years, is up until a

  few years ago it was kind of a sleepy area in

  the sense of the public's attention and

  there's a lot of increased scrutiny, I think,

  in what people in energy analysis are doing

  because they're desperate for information and

  I think there's a lot of issues that are

  forthcoming, like the one that Cutler

  mentioned about how does nuclear fit into the

  fuel mix, and I think people are interested

  in how alternatives and energy efficiency

  fits into the picture and I actually expect

  that EIA is going to be called upon a lot

  more to support policy initiatives either

  indirectly, given the mandate of how EIA

  works but sort of examining various policy

  options and I think EIA ought to think about

  what important policy options it should be

  thinking about and sort of make suggestions

  in the right places.  Have Howard on the

  Hill, have the new administrator on the hill,

  making suggestions like this is something

  that we can do, and you need it.

            MR. NEERCHAL:  John?

            MR. WEYANT:  Another new thing --

  probably more for the conference, but perhaps

  for this group -- that I see in trends in

  energy analysis and energy policy is

  behavioral stuff.  So this ranges from what's

  called behavioral economics to pure cognitive

  psychology.  So just to give you an example

  of how popular that's become, just out of

  nowhere, we did a conference on behavioral

  energy and climate change in Sacramento a

  year ago, and we planned it for 100 people

  and 550 people showed up.

            And this year, we've already got

  700 registrants, so we're begging the hotel

  to create more space.

            Now I have talked to Howard a

  little bit about this and it seems like there

  already is relative to other systems in NEMS,

  (off mike) energy models, per se, a lot of

  behavioral content, and that could be

  expanded upon.  On the other hand, there are

  these people that come from a completely

  different perspective that can pull in that

  direction.  So I would at least think about

  doing that at the conference, if not having

  some internal thinking or external talk to

  this group in that area.

            MS. BROWN:  You think that's a

  topic to consider?

            MR. WEYANT:  Yes, it's just

  something we're working on pretty hard

  because we're trying to do energy efficiency,

  and go fast, and one way you can do that is

  -- and it ranges from public ads, very

  careful interventions.  We're working with

  the people who have done disease, AIDS, and

  sexually transmitted disease, cancer

  prevention things, and even people -- these

  tell a novella type things, they may seem

  pretty ad hoc and glitzy, but they have a

  tremendous amount of careful thought behind

  them and have been amazingly effective.

            MR. NEERCHAL:  Ed?

            MR. KOKKELENBERG:  One thing, kind

  of building on what Steven was talking about,

  and I'm not sure how to do this.  That's (off

  mike).  I hear the presidential candidates

  talking about investment in energy.  Now,

  historically what we seem to have done to the

  energy lags, is look at something and see if

  it is technologically feasible and allow the

  private sector to try to commercialize it.

            A notable failure, of course, has

  been fusion power, but there's been an awful

  lot of stuff that had been done on nuclear

  power, on clean coal technology, and so

  forth, but the way the presidential

  candidates are now talking about this is that

  they want the country, the federal

  government, which is probably what they're

  meaning, to actually invest in this.  Now

  whether this is going to be demonstration

  projects or we're going to build a

  nationalized power system, I don't know.

            But something on the -- something

  might be doable here, if not for this

  committee, for the conference, in the sense

  that, this is where historically we have

  spent our money and this is the kind of

  things we've spent our money on.

            I hate to see the Energy

  Department's budget totaled because it has to

  move all its money into all of this other

  building new power plants or drilling new

  wells off shore because this is what the

  presidential candidates want the country to

  invest in and they want the federal

  government to do it without at least thinking

  about this before we get there.

            The second thing is, did you ever

  find out the dates?

            MS. BROWN:  For the conference?

            MR. KOKKELENBERG:  Of the

  conference of this meeting?

            MS. BROWN:  Oh.  The dates for this

  meeting are -- is Alethea in here?  (off

  mike) It's the Thursday and Friday before

  Passover starts, which I think are the 5th

  and 6th of April, and then the conference --

  (off mike) the 3rd and 4th?

            MS. JENNINGS:  The 2nd and 3rd.

            MS. BROWN:  Okay, the 2nd and 3rd.

  Now these are tentative.

            MR. KOKKELENBERG:  What's the date

  of our meeting?

            MS. BROWN:  Our meeting is April

  2nd and 3rd.

            MR. KOKKELENBERG:  April 2nd and

  3rd.

            MS. BROWN:  And then the weekend is

  the 4th and 5th, and the energy conference is

  the 6th and 7th, which is Monday and Tuesday,

  and Passover starts later in the week.  We're

  trying to fit everything in before Easter and

  Passover.

            So if you want to mark your

  calendars now, this is sort of a little

  tentative.  We haven't officially announced

  it (off mike) to say he was available.  And I

  need to work with Ed on it to make sure he's

  available.

            Now, what Alethea is giving out now

  -- let me just -- while I have the floor here

  -- someone had asked us about bringing some

  students, someone from GW -- is that what it

  was?

            MS. JENNINGS:  Yes.

            MS. BROWN:  (off mike) bring some

  graduate students here (off mike) to the open

  sessions (off mike) but they didn't come.

  However, that said, we've prepared some

  recruitment materials for them which they

  aren't here to receive, but since we've asked

  you to consider working with us to identify

  some graduate students that you might be

  working with that are appropriate for EIA,

  we're going to give you the material to take

  back.  And there's more.  If you need more to

  give to a student, there's more outside, but

  we hope that you will identify some of your

  star students and let them know about our

  internship program that'll be opening up, I

  think, in January (off mike).

            MR. WEYANT:  Do you hire at all

  levels?

            MS. BROWN:  The intern is for all

  -- pretty much for the same level, but if

  you're talking about students who are

  graduating who are seeking opportunities for

  employment, yes.  They hire 5 and 7 for

  undergraduates, I believe, and for master's

  students, I believe it's the 7 or 9, and then

  Ph.D. students are either 9 or 11.

            MR. WEYANT:  Are the internships

  only PhD?

            MS. BROWN:  No, internships are for

  students that haven't graduated.  They need

  to be in school.  They need to be enrolled in

  a program.

            MR. WEYANT:  Graduate or undergrad?

            MS. BROWN:  Either one.

            MR. WEYANT:  Either one.  Okay.

  Good.

            MR. NEERCHAL:  You probably need to

  know their name, et cetera, to get them in,

  right?

            MS. BROWN:  If you have students

  that you want in the internship program, we

  need to give you a link to how that student

  needs to apply.  There's a certain

  advertisement that will come out about EIA

  opportunities (off mike).

            MS. LENT:  I think some of them are

  departmental programs.

            MS. BROWN:  Okay, so they may be

  departmental?  But there's a reference period

  where they apply.  Point them in the

  direction.

            MR. NEERCHAL:  Are you aware that

  AMSTAT News has been (off mike) bring out

  their kind of a general ad for all the

  internship opportunities available in March,

  I think, and to get into the March AMSTAT

  News probably you need to probably tell them

  last year or something like that.  At least

  two months ahead of time.

            MS. BROWN:  The students can

  actually -- I think in January, they can

  start applying.  I don't think they have to

  wait until March.

            MR. KOKKELENBERG:  Just as an

  aside, a lot of internships that our students

  line up, the undergraduates, are decided in

  November and December whether they're with an

  agency or with Wall Street or with a firm --

            MR. WEYANT:  Insurance.

            MR. KOKKELENBERG:  Or insurance

  company, yeah.  They're lined up in

  November/December.  So you're playing for the

  dregs if you're waiting until March.

            MS. BROWN:  Good point.

            MR. BROWN:  Remember the economy is

  weak this year, so -- the dregs might be

  pretty good this year.

            MR. NEERCHAL:  Howard.

            MR. BRADSHER-FREDERICK:  Yes, I was

  just going to mention that it's my

  understanding if you have a master's degree

  and you're coming in as a part time, you get

  a GS-6, with a bachelor's degree, it's a

  GS-5, juniors and seniors, it's a GS-4, and I

  think sophomore, a GS-3, but if you come in

  through JPSM, they give free housing.  So

  this is a real advantage if you're not in the

  area.

            MR. WEYANT:  What's JP?

            MS. BROWN:  Joint Program in Survey

  Methodology.

            MR. BRADSHER-FREDERICK:  Yes, if

  you come through the special program, you can

  get free housing.

            MS. BROWN:  I don't know how to

  tell them, for these students to apply to

  that.  Is it at the JPSM website that they

  would find that?

            MR. BRADSHER-FREDERICK:  Yes.  It's

  on the JPSM website.  I think their

  applications have to be in by February 1st

  and it's pretty competitive.

            MR. CLEVELAND:  That's a good perk.

            MR. BRADSHER-FREDERICK:  Yes.

            MS. BROWN:  And not only is that

  nice, free housing, but they have organized

  activities.  The students that we had visited

  all the other federal agencies in Washington.

  They went around to each one of them.  They

  had organized activities for them,

  sightseeing, tours, all kinds of stuff.  It

  was a great program.

            MR. NEERCHAL:  Where is the free

  housing?  College Park?

            MS. BROWN:  No.  It happens with

  GW, I think.

            MR. BRADSHER-FREDERICK:  Yes, it's

  GW dorms.

            MR. NEERCHAL:  That's good.  That's

  a nice place.

            MS. BROWN:  So if you could refer

  your students to that JPSM website, they

  might find information about that.

            Now I think if they apply to that

  -- Howard, correct me if I'm wrong -- they

  don't apply to a specific agency, they apply

  to the program.

            MR. BRADSHER-FREDERICK:  Yeah, they

  apply to the program.  They could end up at a

  different agency other than EIA.  All the

  statistical agencies are part of the pool, so

  they can specify they'd like to come to EIA

  which might give them a better chance.

            MS. BROWN:  How many did we have

  this year?

            MR. BRADSHER-FREDERICK:  We had

  four in EIA.  We typically have about 4 and

  government- wide, there typically are about

  40.  I think we get about 90 applicants for

  the 40 spots.

            MR. NEERCHAL:  Shall we adjourn?

            MS. BROWN:  Yes.  Thank you very

  much.

            MR. NEERCHAL:  Thank you.

            MS. BROWN:  This was a great

  session here with your ideas.  Thank you.

                 (Whereupon, at 12:42 p.m., the

                 PROCEEDINGS were adjourned.)

                     *  *  *  *  *

